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[1] ��� �1� 	 � ��# ��$ ���

[2] ��� 2 �� �� # ��$ � �

[3] ��� ��� # �� $� � �

[4] � �3��� � ��� #��$ � �

  
"�� A type of intelligence test in which 

the difficulty level of questions 

gradually increases and the time 

factor is secondary : 

[1] Verbal Test  

[2] Power Test 

[3] Speed Test  

[4] Performance Test 

#�� � 	 � ��� ��$ �45 �6� �' � 70 8 -� �� �� � &
'� � �
�� �� � 9�� 0� � :0 ��� 
� �� �� �� � �� ; �� / �� 0 ��� � 	� � < �� =��

' 8 -% � �	 
# � �� 3�0 � 	 #� 5 ��# � 
 '>� 	 �� �
� � -� � � � �� �� � 	 � � �� �� � �� � �9� � �� 	 � �� 	 #�

# �� �� � 	 #� ��� �� �6�0 �� � �	 � �� �0�� �� 	 � �� � -. �� � �

[1]� � - 4
� � � � #� 5 �6� �' �

[2]� � �� ��� ��$ � �

[3]� 
 -	 � � #� 5 �6��' �

[4]� 5 � �� * �' �� 5 �6��'�

  
#�� A teaching-learning strategy in 

which small groups of students with 

different level of ability use a variety 

of learning activities to improve their 

understanding of a subject : 

[1] Multi-sensory learning 

[2] Team teaching 

[3] Co-operative learning 

[4] Programmed learning 

��� 
�� . � �� � 	 � � 70 �2 �? �� � �# �	 � $ �%� 70� 2� ?� �
5 �	 ���	 � � �	 
� ����'� 
� � 
� � � �6�� � -. � @ �
�

[1] ��# �� $ �� ��� �'�

[2] �� 	 �� � ����'�

[3] ' 8 �� �� � A �� � �� �� �'�

[4] ' �� � �� �� � 3�$ � �� �� �'�

  
��� Spranger's classification of 

personality is related to which 

approach of personality assessment ? 

[1] Trait Approach�

[2] Type Approach�

[3] Instinct Approach�

[4] Psychoanalytic Approach�
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[1] 	 � � �� �	 � �  �� 0� �' � � �� -���
[2] &# �� � '� � � 
� �  ���
[3] 5 ��# ��� '� �5 � �� � � �� � 
# '� 5 ��� � 	 �� C� ��

�
[4] 5 � �� � < �� � �� �� 5�� � � 
� �' 2 ��

  $�� Which of the following is not a 

symptom of good mental health of 

students ? 

[1] Living in fantasy world 

[2] Balance in life 

[3] Knowledge of our potentials and 

limitations 

[4] Free from undesirable worries 

%�� D&� � � 	 � �	 �� �� � � 5 ��� � '� �� 4� �� � � �� � * �� 6��
�� � ��� � � ' � � � 5 
' / �� � -�� � �� -. %� �� � � �-� 5 ��� �
* � � 6�� 5 �� � � < �� = � � � ��) � � �� � ��	 =� 	 � � �� � �� -. !E�
0 -� �	 
 � �� 	 �� � 	 #� � �� �?' 	 � 0  �2 � � 	 � � � 	�
� �� -� $ �� -. �@ �
[1] � '� � � [2] �� �� �'� �
[3] �� ��� �$ �� [4] � �
/ � ����

  %�� 'When an adolescent is unable to 

show anger to his parents, then he 

shows his anger to his younger 

brother.' This is an example of which 

type of defence mechanism ? 

[1] Repression [2] Regression  

[3] Projection [4] Displacement 

&�� ��0 �&� � 	 � � 
� C ��� ?'	 � ��	 �
 � � 
" �� � � 	� �
5 � 
 �� %� D
� C �� �?' 	� 
�� �� �� 	 #� �-�
' 8� � �8 � � ) 	 � )�% � &� � � �	 
# � 
� C �� �?' 	 � 70� -�� �
	 � � �* 0 �9� 0� � '�� � '� � � 	 ��# � -. E%� 	 -�� �#�
-. �� �
[1] 
 -&� �� �A � � �0 �F � [2] ' 8 �� �� �A � �� 0�F�
[3] 
	 # '�� [4] 
 � � �� $ � ����

  &�� According to Piaget's Cognitive 

Development Theory, 'The basic unit 

of the cognitive structure that helps 

in the implementation of cognitive 

behaviour', is termed as : 

[1] Reflexes [2] Basic Instincts 

[3] Schema [4] Conservation 

��� DD
 � �� ��? '	 � � �" � 	 � � � � �� � �� � �� � � � '� � � 
 � �� ��� � � 	� �

� / �� �	 � � 	 � �� � 	 #� ��'�� � 	 �� G�� ' � � �
��� � �� �3� �� � 	 0� � &� � 
	 ��� -. � –� 
� �� � � 	 � � �
� � �� �� %� ) 
� � � �� �� � '� � � � 	#	 A �� 	 � � �%� ) 
� �

' >� � �5 � . �� ) 
� � �� � � �6� �� 	� �� !E E��
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�� � �#� �
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[1] H � �� 0�� ��� �' .��
[2] ' � 0� � �� � � �# =� � 
�� � �� 
[3] �#= � �� � � �' �) 	 ��
[4] -�� �� 
� �

  ��� "Emotional Intelligence may be 

defined as the capacity to reason with 

emotion in four areas – to perceive 

emotion, to integrate it in thought, to 

understand it and to manage it."  

Who gave this definition of 

emotional intelligence ? 

[1] Daniel Goleman 

[2] Mayer and Peter Salovey 

[3] Peter and Michael 

[4] Halverson 
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'�� �� �� ��� �� �� ' �� � 
� � 	 �. � 4
#� 5� � �� A �� �� '� ���
	 # �� 	 � �� ? 0�� �� �� 6�� � -#�� -#�� -#�� -#� � -.�@ �
[1] 
 ���� ?	 � �� [2] �� ��� �$ ��
[3] �� ��� �� #� � [4] 5 � �� � 	 ��

  '�� Which one of the following is not a 

direct method for measurement of 

attitude ? 

[1] Interview [2]  Projection 

[3] Questionnaire [4]  Observation 

��� D�	� I���H,�� 	��� ���# � 	 �� ��
� ��0�� &�� 
	���
-.%� �	9� � �#�� � 	�� ���� ��60� �-#�� �	0�� &� �

	 ��!E� 0 -� 	/��� /��J��H�) 	� 	�� 
#����� 	 ��
�	 
���0'�	 #�
?0��� ��	 =�	����-.� @ �
[1] � ?��� �� 	 � �� �0 '�
[2] 5 � 0 �
� 	 � �� �0 '�
[3] �� � �� �� 	 �� � �0 '�
[4] � - �� �� �* 0�� 	 � �� �0 '�

  ��� 'A horse can be brought near water, 

but cannot be forced to drink.' This 

statement reveals the truth of 

Thorndike's which law of learning ? 

[1] Law of Readiness 

[2] Law of Exercise 

[3] Law of Effect 

[4] Law of Multi Responses 

"
�� �� �� ��� �� �� '� � � 
 � � 	 � . �4
�� ��� ��$ �� 	 �� 
 �� �
� -# �� -# �� -# �� -# � �-. � @�
[1] 5 � 6��� � � 8� � 
�� �
[2] 
' A �� �
� � �
[3] 5 � �� � 6�� 
�� �
[4] � �� �� � 
�� �

  "
�� Which of the following is not a level 

of teaching ? 

[1] Basic Level 

[2] Memory Level 

[3] Understanding Level 

[4] Reflective Level 

""�� ����������� '�� � 
�� 	�.�4
�� �� �J�K�������� 	��
�����
/���	#������
"����	��������-#��-#��-#��-#��-. �@�
�
[1] ' �) * �� � �
 
='� �
[2] ' . * ��� �
 
=' �
[3] ' �) �� � �

= ' � �
[4] ' � 
�� � �
 
=' �

  ""�� Which one of the following is not a 

part of Bronfenbrenner's Ecological 

System theory ? 

[1] Micro system   

[2]  Macro system 

[3] Minor system   

[4]  Meso system 

"#�� 
� � � �� �� � � ' 8 �� �� � A �� � � 	 �� 
9� � �� � '� � � 	 �. �4
��
0  :'� 
-#� � -#�� -#�� -#�� -#� � -. �@ �

���� 
 �� � �
 �� � �
 �� � �
 �� � � ���� ���� ' 8 �� �� �A � ��' 8 �� �� �A � ��' 8 �� �� �A � ��' 8 �� �� �A � �� ����
[1] * � � 6�� – � �� A �� ��
[2] 5 � 6�	 � �� – 
 � �� - �
[3] 5 � �� 0� � – � &C � 
� �
[4] � � 0� – ��� 0� �

  "#�� Which pair is not correct with reference 

to emotions and basic instincts ? 

 Emotion  Basic Instinct 

[1] Anger – Repulsion 

[2] Ownership – Collection 

[3] Wonder – Curiosity 

[4] Fear – Escape 
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"��� �	 �� �� � �� � � 	 � � 
� '� �&	 � � �	 � 
� 	 � �� � -� � �
	 � . �4
� �� � #	 �� 
� �� � 6�	 �� �0  2 �� -. � @ �
�
[1] 
 �'� &#	 �$ � ��� �� �����
[2] 
 �'� �&	 �' 8� 0� � � ��� �� �� � 6���� �� 0�� � �� � �
[3] 
 �'8 � -	 ���� �� �6� 0� � � �	 � �5 �0� � &��
[4] 
 �'� �&	 �
 � �� 6� �� � � �� � �A � � ��� �

  "��� Which way is the most appropriate 

for social development of 

adolescents ? 

[1] Discussion on socialization 

[2] Essay competition on social values 

[3] Organizing group activities 

[4] Documentary on social relations 

"$�� ' .
� �� � 	 � � 5 � ��0 	 � �� ��� � * ' � �
 " �� � � 	� �
5 � 
 �� %� D
�' ��� 	 #� 5�� �0	 � �E � �	 
�
�� 	 �� � 	 #� 5 �� �0	 ��� -. �@ �
[1] 70 �2 � �� � �
[2] 
 �'� �&	 �
[3] � �. �" 	 � �
[4] 
 �� � ��?' 	 �

  "$�� According to Maslow's Need 

Hierarchical theory, 'Esteem Needs' 

are which type of need ? 

[1] Personal  

[2] Social 

[3] Intellectual  

[4] Emotional 

"%�� �� �� ��� �� �� '� � � 
� � 	 �.�4
� � 	 �0� � �� 	 ��
' �-� #� 	 � � 
 A &�� ?' 	 �� � �� # ��$ �� 
 � � 
� �� � 6���

� -# �� -# �� -# �� -# � �� -. �@ �
[1] 5 
� 6�� �$ � �� �0� � �� 
� � � 6�#� 	 � 0� �
[2] 0  :'� � �� 	 �� '60 � � �# �� 
� � �6��� �� 
� � 
� �� � 6���

	 � 0��
[3] � ?��� �
  6�� �� 
� � � 6�# �	 �0 ��

�
[4] �8 < � � �� � � �5 � '�� � ���5 �� � 
�� � 6�# �	 �0� 

  "%�� Which of the following task is not 

related to Baqer Mehdi's test of 

Creativity ? 

[1] Unusual uses related task 

[2] New relation between pairs 

related task 

[3] Product improvement related 

task 

[4] Ask and guess related task 

"&�� �� �� ��� �� �� ' � � � 
� � 	 �. � 4
�� 	 / �� � �. 0 �2 � 	�
�� �� � 9�� �5 � �� �	 �� 
� � � �� � ' �� �
-# � � -# �� -# �� -# �� -# � � -. � @�
�
[1]� 	 � � ) � � � �#� �� � � 70 �2 �� �8 $ �� � �� 
 '� �� � -# � �

-�� � 
	 � � !�
[2]� � . 0� 2� 	 � �� �� �9� �� �F � 5 ��45 � �� ��� ��� � �


 �� 
� � � �6� �� -�� � 
	 � #� -�. !�
[3]� � . 0� 2� 	 � �� �� �9 �� �� F� � �	 � 
� 	 � � � ��� �9��

5 � 0�' �� � �	 � � ��� � �� �� �� 	 � �# �-. � !�
�

[4]� � . 0� 2� 	 � � �� � �9� �� �F� 	 � ���
5 � � � � ���	 � �� 	� � 	 �� $ � �� ?�9�� -�� � #� -. � !�

  "&�� Which of the following statement is 

not correct with reference to 

individual   differences ? 

[1] No two persons can be exactly 

alike. 

[2] Individual differences may 

belong to different areas. 

[3] Individual differences affects 

different dimensions of 

development. 

[4] Individual differences arises 

only due to heredity. 
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"��� 70 �2 �? �� 5 600 �� 	 #� ��# �� $� � � �� 6�� 	� �
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[1] 5 � J ���� =� �� [2] �  H �/ � ��

[3] ' . 2H 8 �� � [4] 5 � ) &� � 	��

  "��� Who is called the father of Trait 

Theory for study of personality ? 

[1] Allport [2] Woodworth 

[3] McDougall [4] Eysenck 

"'�� 
���� 3�$�� 	�. ������� 	�� ����������� 0 :'���� '��� 
��
	�.�4
��
8�������L��	��� �-� � � 
-#
-#
-#
-#�-.�@�
�
[1] 
  � �� � 5� . � �� �� ����
[2] � �� �� �� 5 �. � � �+ , ���
[3] 
  � �� � 5� . � ��+, � ��
[4] � �� �� �� 5 �. � � ��� �� ��

  "'�� Which of the following pairs of 

communication skills is correct for 

receiving the information ? 

[1] Listening and Writing 

[2] Speaking and Reading 

[3] Listening and Reading�
[4] Speaking and Writing�

"��� �� �� � #0 � � 
" �� �� 	 �� 5 � 
 �� %� �� ������ �� � '�� �

� � 	 � . �4
�� �  �" � 	 �� � 	 ���	 � �� � -# �� -# �� -# �� -# � �-. � @��
 

[1] � ���� 3 �$ �� ?'	 � [2] 
 A &�� ?' 	�

[3] 
 ." � � �� 	� [4] 7 0� �-�� �	 �

  "��� According to Triarchic Theory, 

which of the following is not a type 

of intelligence ? 

[1] Analytical [2] Creative 

[3] Theoretical [4] Practical 

#
�� 	 � � -� ��� � 	 � � �
 " �� � �� 
 �� %� 0 -� �	 
� 
�� �
	 # � � . ��	 �� � -. %� &�� �. � �	� �� '� � � 
�4
� #	 A ��
� .� �	 �� 
" �� � �
 ��' �� �� -� ��& �� � �-. � � @�
�

[1] �8 �� 4G� +, �� �

[2] G� +, ���

[3] � � �� 4G�+ , �� �

[4] ) �' � � � 
� �	 �� ) � ��-#� 

  #
�� According to Kohlberg's theory, 

what level of morality is it, when 

morality includes self-accepted 

moral principles ? 

[1] Pre-conventional  

[2] Conventional  

[3] Post-conventional 

[4] None of these 

#"�� �� �� ��� �� �� '� � � 
 � � 	� . �4
# � �	 ���� � �� 
/ �� � 	 #�
� 	 � 
�' �90 �� ��� � 3�� �� �- #��- #��- #��- #� � -.�@ �

[1] 0 -� 
� � 6�	 � $ �� 	 # �5 � 
/ �� �-.!�

[2] 0 -� 5 � �
� �� 	 �� 5 �� � � 	 #� 5� 
/ ��� -. !�

[3] 0 -� � -� �� �	 # � �� �� &� 	�� 
' 0� -. !�

[4] 0 -� 0 �. � ��� � � � �	 # � �-�# &� -. !�

  #"�� Which of the following is not a general 

characteristic of adolescence period ? 

[1] It is a transitional period. 

[2] It is period of unrealism. 

[3] It is time for search of identity. 

[4] It is the threshold of puberty. 
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##�� 70 �2 �? �� 5 �	 � �� -� � � �� �
� ��	 � 5 9�� �� � 6��
��# ��$ �� �	 
 	 � � M �� �� �� 	 �
� � � 	 0� � ��
�0� �@ 

[1]� ' �� � � �� � ' �J �� ��

[2]� � . �	�

[3]� 5 � )& � � 	�

[4]� 5 � J ���� =� � � �� �	 . = ��

  ##�� Who developed the Thematic 

Apperception Test for personality 

assessment ? 

[1] Murray and Morgan 

[2] Bellack 

[3] Eysenck 

[4] Allport and Cattell 

#��� &� � � 	 � �� ��� �� 
 � �0 �� ' � �� �� �� �* 0 �5 �� � � 	� �
� �� � -#� 5 �6� �' 	 �� � � 	 ��� � � �� � �� �� � �� �
�	 0� � & ��� � -. %� � �� � 0-� �	 
 � �� 	 � �� 	 #�
� �� � ��� 5 �  
8�# �� -. �@ �

[1] � ���� �� 5 � ��� �

[2] ��� � �� � ��#� �5 �  �� � �

[3] � ���� �� 5 � �� � ��

[4] ��� � �� � ��#� �5 � � � ���

  #��� What type of reinforcement schedule is 

it, when reinforcement is provided to 

the learner only after a certain number 

of responses ? 

[1] Fixed ratio 

[2] Variable ratio 

[3] Fixed interval 

[4] Variable interval 

#$�� ��0 �&� � 	 � � �. � �	 � �� 	�
 � �
" � � �� � 
� � %�
�	 �� �� � �� 
/ �� �-. � ��
�

[1]� � . �� 	 �� �
� �� 	 � �� 	 #�5 � 
/ ���

[2]� � �� �� 	 # �� . �� 	 �� �	 #� 5 �
/ � ��

[3]� �� �0 � �� �. �� 	 � �� 	 #� 5 � 
/ ���

[4]� 
� �0 � �� �. � �	 � �� 	 #�5 � 
/ ���

  #$�� According to the moral development 

theory of Piaget, adolescence period 

is : 

[1] Stage of moral realism 

[2] Stage of morality constraint 

[3] Stage of heteronomous morality 

[4] Stage of autonomous morality 

#%�� �� �� ��� �� �� ' � � � 
� � 	 �. � 4
 �� 	 � � 	 � 5 �6� �' �
	 � � �
 	 �� �? '	 � G�� 
� ��� � �� �� �� 	 � � �� -. � @ �

[1] 5 / � � -# �� �� 3�0 � 
� �

[2] ��� �2� � �� 	 #� 	 ' #��

[3] 5 � �� �� �� $ �� � 	 #�	 ' # 

[4] 
 8� �� ?'	 ��� �� � �3= 

  #%�� Which of the following factors 

positively affects learning ? 

[1] Meaningless content 

[2] Lack of maturation 

[3] Lack of motivation 

[4] Informational feedback  
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[1] 5 � � ��� 	 � 5 �� � ��� � $ �� �	 ��
[2] � �N � 5 �� � �� � � $ �� �	 ��
[3] &9 '&� �� 5 �� � �� � � $ �� �	 ��
[4] ) �' � � � 
� �	 �� ) � ��-#� �

  #&�� Rohit helps others to get praise. This 

is an example of : 

[1] Intrinsic Motivation 

[2] Extrinsic Motivation 

[3] Innate Motivation 

[4] None of these 

#��� � 	 � 15� �3 �� � 	 � � � ��	 � 	 #� �  �" � � �16� � 2 0��
-�� �#%� &� �	 � � 
	 #� ' ��� 
	 � 5 �0  �12 -. �@ �
�
[1] 80� [2] 90�
[3] 100� [4] 110�

  #��� What will be the intelligence 

quotient of a 15 year old boy, when 

his mental age is 12 ? 

[1] 80 [2] 90 

[3] 100 [4] 110 

#'�� �	� ��� ��	� 	 �� G�� '��� 5 ��� � �; ��/��0���� 	# �

A&��?'	 ��� 	�� ��	� 
� 	���� -� � �
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��	 �.�4
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[1] '�.��	���	�� ����� ?
�-���

[2] � � 0� 	 �� � � 8 ��	 � � ���

[3] �� �� �* 0 �� 	 # �
� �� � ���

[4] 5 �
� �# �� �� � �� 	 �� ��� -�� �

  #'�� As a teacher which of the following 

work would not be done by you to 

develop the creativity of the students ? 

[1] Encouragement of originality 

[2] Removal of fear 

[3] Freedom to respond 

[4] Avoidance of divergent thinking 

#��� ��	�
� &��� D	�9��� 
�� ����6�� 	#� 5���E� �+,��� -.%�
	-�����-.���

[1] � 
K . �� 	� 	 �JH ��

[2] �� �� � 2
 '�� � H
= ��

[3] 
�����

[4] � A � �#0�

  
#��� Development which proceeds from 

'centre to the periphery', is known as : 

[1] Cephalic Caudal 

[2] Proximodistal 

[3] Spiral�

[4] Circular�

�
�� ��8�������L0�
��	
���	���	��5������ �	�-.�@�
�
[1] � �-O0 � [2] 5 � &� ��
[3] 5 � 9�� �	 � [4] 
 �' ��& 	�

  �
�� Hunger and Thirst is which type of 

motive ? 

[1] Extrinsic  [2]  Acquired 

[3] Intrinsic  [4]  Social 
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�#�� 9�2���!����.�+!��
�;'����%I���%I���%I���%I��.�4�

[1] �%��� ��H'
�� �!
�>��J��.&�

[2] �2�!����2���2�%�'��
%"�����6��.�&�

[3] 
����6
�!���C������ � ����.&�

[4] ���������������'��3'���� ��
���.&�

���� ��!� ��?
� 2��� ��� !�� ��*��� ��!���K� ���
��'�����%����.�4�

[1] �*'���� [2] �	
���,��

[3] ��%�J��� [4] H'��*��



 ������� ������

��	�
��
���� � ������$��

�%�� !2�!����
(��)�!���!����!����!����!�����
�$��#%������

[1] ������� +� �2�*�� '�

[2] !�#
��'� +� �D�%/���

[3] #�. ���� +� �L�%�

[4] ����J� +� "�%
�����

���� ��!��
�$��2����
!���!�	*�������'�����%���
�.�4�

[1] '%�*���J �

[2] 
'��
(I�

[3] � ���
����

[4] ���J% �

!��� ��?
������ 2��� 
,����%<2� ��� 
(��)� !�� 8>I�:�
��?
�9�2���!����!���?
���������������4�

[1] ���.'��

[2] �'�2�

[3] M��(�� �

[4] >�2��

!��� �
���2����
(��)�!���!����!����!����!�����
�$��#%������

[1] ��D'��� +� ��*�D'���

[2] �	2%��� +� ����2%���

[3] �$���� +� '=��=���

[4] �%D!�� +� �����!��

! �� 9�2��� !�� ��!� ��?
� 2��� 8��
):� ��D''� ���
��'����������������������%����.�4�

[1] �% ���)� [2] !��
)�

[3] "%��
)� [4] � �
)�

!��� �N#� ,�����
(��)�!��8�:�
,�������N#� ,��
5=������������

[1] ����J�

[2] 2C*����

[3] ���%�

[4] 
	��

!!�� 8���%:���?
�!�����2����
�����,���.���

[1] �����
��

[2] ���%����

[3] ���%���

[4] ���%D
�

!"�� 8�D!2+�
E��
:����
(��)�!���!����!����!����!���� �
�$��
#%������

[1] ���2���� +� ���201��

[2]  O�%� +�  5!��

[3] �����,�� +� �D=� �

[4] 25��� +� 2�=���
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���� Which of the following options 

express the correct meaning of the 

sentence given below ? 

He is too cute to overlook. 

[1] He is too cute and he can be 

overlooked.  

[2] He is too cute but he can be 

overlooked.  

[3] He is so cute that he cannot be 

overlooked.  

[4] Although he is not cute, but he 

cannot be overlooked. �

���� Change the narration : 

Kavin said to Mr. Cowper, "Please, 

be kind to me." 

[1] Kavin requested Mr. Cowper to 

be kind to him. 

[2] Kavin requested Mr. Cowper to 

be kind to me. 

[3] Kavin asked Mr. Cowper to be 

please kind to me. 

[4] Kavin asked Mr. Cowper that he 

must be kind to him.�

���� Fill in the blank with the correct 

form of verb : 

You had better …………. your 

hands before you eat. 

[1] been washing 

[2] washing 

[3] washed  

[4] wash�

���� The word 'garrulous' means : 

[1] talkative [2] abusive 

[3] violent [4] abundant�

���� Arrange the following jumbled 

options in the correct order and then 

choose the correct option : 

(i) too many (ii) spoil 

(iii) the broth (iv) cooks 

[1] (i), (iv), (iii), (ii)  

[2] (i), (iv), (ii), (iii)  

[3] (iii), (iv), (ii), (i)  

[4] (iv), (ii), (i), (iii) �

���� Fill in the blank with the correct 

option : 

Let us stay here, while it ……….. . 

[1] is raining 

[2] was raining 

[3] has been raining 

[4] had been raining�

���� Choose the part of the sentence that 

is grammatically incorrect : 

The thief took towards/his heels/on 

seeing/the Police-van arrive. 

[1] The thief took towards 

[2] his heels 

[3] on seeing 

[4] the Police-van arrive.�
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���� Choose the part of the sentence that 

is grammatically incorrect : 

He has committed / a blunder / 

mistake / today morning. 

[1] He has committed 

[2] a blunder 

[3] mistake 

[4] today morning.�

���� Fill in the blank with the correct 

form of verb : 

Neither you nor she ……....... made 

the mistake. 

[1] have [2] has 

[3] had [4] did�

���� Fill in the blank with correct 'Modal 

Auxiliary' : 

Passengers ………… not walk 

across the railway line. 

(Prohibition) 

[1] should [2] can 

[3] need [4] must�

���� Choose the correct passive of the 

given sentence : 

 Did he kill a lion ? 

[1] Did a lion killed by him ?  

[2] Was a lion killed by you ?  

[3] Was a lion killed by him ?  

[4] Had a lion been killed by you ?�

���� Fill in the blank with the correct 

option : 

Mr. Sudhir Soni is ……….. R. A. S. 

Officer. 

[1] an [2] a 

[3] the [4] ×�

���� Fill in the blank with the correct 

option that completes the idiom : 

A rolling stone ………. . 

[1] carries rough winds 

[2] kills no one 

[3] gathers no sauce 

[4] gathers no moss�

���� Fill in the blank with the correct 

option : 

When Monisha reached the bus 

stand, the bus ……….. . 

[1] was already left 

[2] had already left 

[3] already left 

[4] has been already left�

���� Which of the following sentences is 

the correct option to express present 

perfect continuous tense ? 

[1] Mr. Mehta has been waking for 

2 O'clock in the morning. 

[2] Mr. Mehta has been waking 

since 2 O'clock in the morning. 

[3] Mr. Mehta has been waked since 

2 O'clock in the morning. 

[4] Mr. Mehta has been waking 

from 2 O'clock in the morning.�
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����������������������������������������������� ���!"���������#$�%�����������������&���#�'���&���#�'���&���#�'���&���#�'�����(!�')���*�
���������	
���������	��
�����
��������
�������������
����	������	
�������
������
����

(�$� �+��������������X������Y ��������������,�
�+�%���-��%.��)/0�01*�����Y��-�!%2�3��
X�������-��	��%�!45�%0-�0��������Y�����)/0�
��������������01�6�

[1] #$�%  

[2] ����7� 

[3] !+��  

[4] !��'��

  
(�$� X and Y are facing each other at 

sunrise. The shadow of Y is falling 

towards right of X, then Y is facing 

in which direction ? 

[1] North  

[2] South 

[3] East  

[4] West 

()$� �������� ���-� ����'�� �+%-����� 
��%���-�
����������3�8��9�������:&�����!�-�4.5 8��9������
����%�-�01*����� 
��%���-�'���3� ���-�
!"��� 8��9�� 01�� ���� ������ :�� ���� ���� �-�
'���01���

[1] 10 ���- !"�� 8��9���

[2] 12 ���- !"�� 8��9��

[3] 13 ���- !"�� 8��9���

[4] 15 ���- !"�� 8��9��

  
()$� A boat covers a certain distance 

downstream in 3 hours, while it 

comes back in 4.5 hours. If the speed 

of the stream be 3 kmph, then the 

speed of the boat in still water is :�

[1] 10 kmph  

[2] 12 kmph�

[3] 13 kmph  

[4] 15 kmph 

(�$� 10.5 ���-� ��;��� ��� ��� 
���)� ��� ������
�!8����%�� 3.5� ���-� ��;��� ����� 3� ���-�
</'�3�� ������3��2��9�� ����)	���� ����=��� �����
:����01*����)��%��3��!"��%�&�������)��-�
�� �������-�0���-�6�

[1] 112 [2] 126 

[3] 132 [4] 138�

  
(�$� A metallic sphere of radius 10.5 cm 

is melted and then recast into small 

cones each of radius 3.5 cm and 

height 3 cm, then the number of 

cones thus formed is : 

[1] 112 [2] 126 

[3] 132 [4] 138 



� ���*��� ������

��	�
��
���� � �$��$�!$�

(�$� �������3��
��%��������>����'?�@�A�B��:����
	�
��%� !%� 3� �>������ ��� '?�@�A� B��:�

:��45�%�
8

3
3 ��)��� 0��� :���� ���� B��:� �-�

���>�����%�01���

[1] %
3

2
16 � �

[2] %
3

1
33 �

[3] %33 � �
[4] %50 �

  (�$� If the amount is 
8

3
3 times the sum 

after 3 years at compound interest 

compounded annually, then the rate 

of interest per annum is : 

[1] %
3

2
16 � �

[2] %
3

1
33 �

[3] %33 � �

[4] %50  

(*$� 1865 ����������������660�	���":-�&���������
0�1�	�1%�1305 ��0��-�&���������01���!%��)�
120 C��D�������������������3�� ��-����>����0-��
&���������01������� ������������������� ���>���/�
&���������0�1�6 

[1] 220� �

[2] 440�

[3] 120� �

[4] 1085�

  
(*$� Out of 1865 people, 660 can speak 

English and 1305 can speak Hindi, 

but 120 persons cannot speak either 

language, then how many persons 

can speak both languages ? 

[1] 220� �

[2] 440�

[3] 120� �

[4] 1085 

(($� '�����-��-�������20%��-���-�0���:����
!%� ��� �"�0�� 800� E!��� ���� 12.5� ���"��
'���� ;�����  �%-������� 01�� ���� '�����-�
�+���-���!"������"������-�01�6 

[1] 12 E!�� [2] 14 E!���

[3] 15 E!�� [4] 16 E!���

  
(($� A reduction of 20% in the price of rice 

enables a customer to purchase 12.5 kg 

more for Rs. 800. The original  price of 

rice per kg is : 

[1] Rs. 12 [2] Rs. 14�

[3] Rs. 15 [4] Rs. 16 

(�$� �����:�� ��� ��� ����.�� ���� �����:���
����.�� ��� 12� �)��� ����� ���>�.�� ��� 5�
�)���01*�����#��������>�.��36 0�����������;��
01����

[1] 2726 [2] 2736�

[3] 2796 [4] 2826�

  
(�$� In a division sum, the divisor is 12 

times the quotient and 5 times the 

remainder. If the remainder is 36, 

then the dividend is :�

[1] 2726 [2] 2736�

[3] 2796 [4] 2826 
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(+$� �����F�7�-����	����!�������-�:����
�

Z1A, X2D, V6G, T21J, R88M, P445P, ? 

[1] N2676T� �
[2] T2670N�
[3] N2676S� �
[4] M2670S�

  (+$� Find the next term of the following 

series : 

Z1A, X2D, V6G, T21J, R88M, P445P, ? 

[1] N2676T� �
[2] T2670N�
[3] N2676S� �
[4] M2670S 

(�$� ���-� �� ��� ���� 5, 9, 13� ��� ������:��
�%���!%�?�����2, 6������10����>��&'���
01*����-��&���2��9-��� ���01���
[1] 602 [2] 592�
[3] 572 [4] 582�

  
(�$� A number when divided by 5, 9, 13 

leaves remainder 2, 6 and 10 

respectively. The least such number is : 

[1] 602 [2] 592�
[3] 572 [4] 582 

��$� ��� ����'�� �+9� ���>��� ���� "PARTICLE"�
����"USBQFMDJ"������"GENERATE"�
����"FOFHFUBS"��� ���:����01������3�-�
������+9� ���>��� ����� "DOCUMENT"�����
�� ���:��������
�

[1] VDEPUOSF  

[2] VDPENFUQ� 

[3] VDPEUOFN  

[4] VDPEUOSF�

  
��$� In a certain code language 

"PARTICLE" is written as 

"USBQFMDJ" and "GENERATE" 

is written as "FOFHFUBS", then in 

same code language "DOCUMENT" 

will be written as : 

[1] VDEPUOSF  

[2] VDPENFUQ� 

[3] VDPEUOFN  

[4] VDPEUOSF 

��$� �-��������P, Q ���� R G�%�����9�1��5�8��9��
���� ��%���01*����R, Q�����)�)�-��������
�����Q, P�����)�)�-��������'����01�������
	��������P�G�%��91���������%�������������
����������6�

[1] 22 8��9�� �

[2] 25 8��9� 

[3] 30 8��9�� �

[4] 35 8��9� 

  
��$� A tank is filled in 5 hours by three 

pipes P, Q and R. The pipe R is 

twice as fast as Q and Q is twice as 

fast as P. How much time will pipe P 

alone take to fill the tank ? 

[1] 22 hrs  

[2] 25 hrs 

[3] 30 hrs� �

[4] 35 hrs 
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�)$� ����
13

13

−

+
=x ����� ,

13

13

+

−
=y  ����

( )22
yx + ��������01���

[1] 14  [2]  12    

[3]  13 [4]  16�

  
�)$� If 

13

13

−

+
=x and ,

13

13

+

−
=y  then the 

value of ( )22
yx +  is : 

[1] 14      [2] 12   

[3] 13 [4]  16 

��$� �45��������-����!��D������A�&��-��	��%����
10����H�����!%������B����-��	��%����14����
H�����!%�01���������	!�-��H������/�!%H!%�
&��� ���-� 01��� ��� A &��-�� 	��%� ��� 24����
H�����!%�0���:��-�01��!��D������45��������-�
�� �������-�01�6�
[1] 31  

[2] 33 

[3] 37  

[4] 39 

  
��$� In a row of girls, A is 10th from the 

left and B is 14th from the right. If 

they interchange their positions, A 

becomes 24th from the left. How 

many girls are there in a row ? 

 

[1] 31  

[2] 33 

[3] 37  

[4] 39 

��$� ����)�����%�����H�)�����15%������!%�
&�'���01��	�%�#����#���18 E!�� 	�
���
���� &�'�� 0������ ���� #���� ����� 18%� 0���
:���*�#���H�)����?���+(��IEJ����K�01���
[1] 360  

[2] 540 

[3] 600  

[4] 640�

  ��$� A shopkeeper sells an article at 15% 

gain. Had  he sold it for Rs. 18 more, 

he would have gained 18%. The cost 

price (in Rs.) of the article is : 

[1] 360  

[2] 540 

[3] 600  

[4] 640 

�*$� ����H&���-�:��� ���9000�01������!)E>�����
�-�:��� ����@�A��%�5%�	�1%���0��	����
�-� �@�A� �%� 8%� 0��� ���� ��� �>��� ����
:��� ��� 9600� 0���� ���� !)E>����� �-� �� ����
01���
[1] 3000  

[2] 4000 

[3] 5000  

[4] 5600�

  
�*$� The population of a town is 9000. If 

the males increase by 5% and 

females by 8%, the population would 

be 9600 in a year. The number of 

males is : 

[1] 3000  

[2] 4000 

[3] 5000  

[4] 5600 



������ ���+���

��	�
��
���� � �

�($� D, C �����E������&��01��A, E����	�
���
��&���0-��01��C, A������&��01��D, B����
	�
��� ��&�� �0-�� 01�� ���� 3����� ��� ��1��
�&�����&��01�6�
[1]� A�� [2]� B�
[3]� C� [4]� D�

  �($� D is taller than C and E. A is not as 

tall as E. C is taller than A. D is not as 

tall as B. Who is the tallest among 

them ? 

[1] A [2] B 

[3] C [4] D 

��$� ��� �45�-� ��� .��9���"�.� �-� 	��%� 3�����
�%���0)��X�����0�����LL�0���%�������:-�
��� 3���1��� !)�� �-� �45�-� 01MM�� ���� �45�-�
���X��������!"��%���&�
��01�6�
[1]� �!��� [2]� ���3��
[3]� &0�� [4]� �����

  ��$� Pointing to a girl in photograph, X 

said "She is the daughter of my 

grandfather's only son". How is the 

girl related to X  ? 

[1] Father [2] Brother 

[3] Sister [4] Mother 

�+$� �����>!�3�:�����-�%����45-�!+������!��'��
�-�	��%�:��%0-�01������#$�%��������7���-�
	��%�0���'��%0-�01������#����
�)	�/�����
����������:�����6�

[1]� #J - !J [2]� #J - !+J 

[3]� �J - !+J [4]� �J - !J�

  �+$� A steam engine train runs from east to 

west and wind is blowing from north to 

south, then the smoke from the train 

would blow in which direction ? �

[1]� N - W [2]� N - E 

[3]� S - E [4]� S - W 

��$� ������� ���F�7�-����	����!��01���
�
3, 13, 22, 32, 59, 69, 120, 130,  ? 

[1] 201�� [2] 211�
[3] 227�� [4] 232�

  ��$� The next term of the following 

number series is : 

3, 13, 22, 32, 59, 69, 120, 130,  ? 

[1] 201�� [2] 211�
[3] 227�� [4] 232 

+�$� 9 ?������ ��	�������	�1���n 01������#�����
���� 	��-� �� ��	���� ���� ������� �%� �����
:������������	�1���������0���:������6�
�

[1] �0-������%0�����

[2] 1 �-��@�A�0���-�

[3] 1.5 ��-��@�A�0���-� �

[4] 2��-��@�A�0���-�

  
+�$� The average of nine consecutive 

numbers is n. If the next two 

numbers are also included, the new 

average is : 

[1] remain the same 

[2] increase by 1�

[3] increase by 1.5 

[4] increase by 2 
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+�$� 0�%��7��� ��� ���� H�������� ���� �+��H���� �-�
%���%����
������0��%���%�H�������N!�
����	�
��+�'�����������01�6�

[1] �)(���!)%�%�>9O-��#P���	�1%�����4�����
���:-��	����%7��

[2] ����%� %�>9O-�� #P��� 	�1%�  �!%����
���:-��	����%7� 

[3] ��0%� ���:-�� 	����%7�� 	�1%� &-%�
�����%�=5����:-��	����%7��

[4] 	&+��0%� ���:-�� 	����%7�� 	�1%�
 ����,0-,%1�������:-��	����%7��

  +�$� Which places of Haryana have been 

notified as Ramsar site under 

Ramsar convention of UNESCO ?�

[1] Sultanpur National Park & 

Bhindawas Wildlife Sanctuary�

[2] Kalesar National Park & 

Khaparwas Wildlife Sanctuary 

[3] Nahar Wildlife Sanctuary & Bir 

Shikargarh Wildlife Sanctuary�

[4] Abushahar Wildlife Sanctuary & 

Khol-Hi-Raitan Wildlife Sanctuary�

+)$� ������������������!%���'�%��-�:����

(i) 0�%��7��� ���� ������)Q�� ��H���� �-�
H���!����>���2002 �����-��3����-*�
�

(ii) �����+����R-���!���0�%��7���%�;�����
!0���������)Q�����*�
 

[1] �����(i) �0-�01*�

[2] �����(ii) �0-�01* 

[3] (i) ����(ii) ������� �0-�01�*�

[4] (i) ����(ii) ������� ����01�* 

  
+)$� Consider the following statements :�

(i) The institution of Lokayukta was 

established in Haryana in the 

year 2002.�

(ii) Justice Pritam Pal was the first 

Lokayukta in the State of 

Haryana. 

[1] Only (i) is correct.�

[2] Only�(ii) is correct. 

[3] Both (i) and�(ii) are correct.�

[4] Both  (i) and�(ii) are incorrect.�

+�$� 0�%��7������������0%�����L��9-�	�S.���%�
0-%��:M����N!�����:����:����01�6�

[1] �)E�"��� �

[2] ����-!��

[3] !��-!�� �

[4] ������-�

  
+�$� Which of the city of Haryana is 

known as the 'City of War Heroes' ?�

[1] Gurugram� �

[2] Sonipat�

[3] Panipat� �

[4] Bhiwani�



������ ��)����

��	�
��
���� � �

+�$� 0�%��7��� ��� ������� ��� H��%����� ���� ����
���0��� %�;�� ��%����� H��%�� ��� �:��� !"�T����
01�6�

(i) ��� ���1�&������&%��

(ii) �����������%�����&�

(iii) ��-�����-�����%���S�T��Q� 

�0-�0-�0-�0-������+9����'����-�:����

[1] (i) 	�1%�(ii)  

[2] (ii) 	�1%�(iii) 

[3] (i) 	�1%�(iii)  

[4] (i), (ii) 	�1%�(iii)�

  +�$� Which of the following monuments 

of Haryana have the status of State 

protected monuments ?�

(i) Sheikh Tayyab's Tomb�

(ii) Shobha Sagar Pond�

(iii) Bhimadevi Temple Complex 

Choose the correct code :�

[1] (i) and�(ii)  

[2] (ii) and�(iii) 

[3] (i) and�(iii)  

[4] (i), (ii) and (iii)�

+*$� 0�%��7��� ��� 	�1P������ �������� ���� 	�
��%��+��
�)��
��	��������������%�������������������
�����1�-�-���H�����:�����%�01�6�
�

[1] 0�%9O���� �

[2] 0)4��

[3] �'��	�3�	�3�4-�-�

[4] �:���#P�������U�

  
+*$� Which of the following institute is 

responsible for the development of 

infrastructure facilities in industrial 

areas of Haryana ?�

[1] HARTRON� �

[2] HUDA�

[3] HSIIDC�

[4] District Industries Centre�

+($� ������� ��� ���� ��� ��1�� 0�%��7��� ���
%�;�!������G�%�����)Q���0-��0-��0-��0-���0�����01�6�
�

[1] 0�%��7�������) �����-�

[2] !�:�&�����0�%��7���#V'������������
�����
�-���

[3] 0�%��7��� ����� ����� 	������ �����
��H��

[4] 0�%��7���������
���%�	�����������H��

  
+($� Who among the following is not 

appointed by the Governor of 

Haryana ?�

[1] Chief Minister of Haryana�

[2] A Judge of Punjab and Haryana 

High Court�

[3] A member of Haryana Public 

Service Commission�
[4] A member of Haryana Human 

Rights Commission�



� ��)���� ������

��	�
��
���� � �$��$�!$�

+�$� 0�%��7��� ��� ������� ��� %�;�!������ ���� ���
��1�������1�%���0�����6�

[1] �):5W.%�0)�1��&�-��

[2] :��) ������0���- 

[3] 
�����������4��

[4] &�&+�!%������

  +�$� Who among the following Governors 

of Haryana was a civil servant ? 

[1] Muzaffar Hussain Burney�

[2] Jaisukh Lal Hathi 

[3] Dhanik Lal Mandal�

[4] Babu Parmanand�

++$� L!�%��%� !0'��� !�� ���:��M� ��� &�%�� ����
������� ���������������!�=5����

(i) �0� ���:��� !�%��%� ���� ��� 3��3�� ���
N!� ���� �'�0X��� �%�-� 01� 	�1%� �0�
0�%��7��� ��� ��H�� !�%��%���� ��� ���
������-�� �����:�,	������� 4�9�&���
�1��%��%�%0-�01*�

(ii) !"
����!�%��%��������	�Y�	�������-�
�����7�� !�%��%� !0'��� 	���79�� �-�
:�� %0-� 01� 	�1%� !0'��� (ID)� ����
:���� �@
�)� ���� �1���0�� �%��S4�X�� ���
:��45��:����*�

(iii) !�%��%� !0'��� 4�9�&��� ���� #!�B
�� 4�9��
���#!��������������(��7���%-����:��	����
���� H���� '��� 0��)� ����� :����� 	�1%�
!�%��%���� ���� H���� ���:��	���� ��� ����
	�������%����-�	���������0-��0���-*�

�0-�0-�0-�0-���+9����'����-�:����

[1] �����(ii)��0-�01*�

[2] (i)�	�1%�(ii)��0-�01�* 

[3] (ii)�	�1%�(iii)��0-�01�*�

[4] (i), (ii)�	�1%�(iii)��0-�01�*�

  
++$� Read the following statements about 

'Parivar Pehchan Patra Yojna' : 

(i) This scheme identifies family as 

a unit and is creating a reliable 

socio-economic database of all 

the families in Haryana. 

 

(ii) An eight digit unique family ID is 

being issued for every family and 

the ID will be linked to birth, 

death and marriage records. 

(iii) The data available in family ID 

database will be utilized to 

determine automatic verification 

for various welfare schemes and 

families will not be required to 

apply themselves for benefits. 

Choose the correct code : 

[1] Only (ii) is correct.�

[2] (i) and (ii) are correct. 

[3] (ii) and (iii) are correct.�

[4] (i), (ii) and (iii) are correct.�



������ ��))���

��	�
��
���� � �

+�$� 0�%��7��� ��� %�;�!��� ��� ��&�
�� ����
������� �����������!%���'�%��-�:��� 
(i) �0� 0�%��7��� ���U-�� ������P���� ���

�)���
�!���01�*�
(ii) �0�%�;��������-���-���������!������


��%7���%������01�*�
(iii) �0� 3�74��� %�4� ?�S�� �����39-��

0�%��7���%�;����� ������	
����01�*�
�

(iv) #�0��� ����
���� ��� 	������ ���3��
H������-�����Q��R�T���0-��01*�
 

#!�)�Q�����������1�-��/���������0-�0-�0-�0-��01/01��6�
�

[1] (i), (ii), (iii) 	�1%�(iv) 

[2] (ii), (iii) 	�1%�(iv)�
[3] �����(iii)  

[4] (ii) 	�1% (iii) ��������

  +�$� Consider the following statements 

regarding the Governor of Haryana : 

(i) He is the Chancellor of Central 

University of Haryana.�
(ii) He can hold any office of the 

profit in the State.�
(iii) He is the President of Indian Red 

Cross Society, Haryana State 

Branch.�
(iv) He does not have any 

discretionary power granted 

under the Constitution. 

Which of the above statement(s) 

is/are correct ? 

[1] (i), (ii), (iii) and�(iv) 

[2] (ii), (iii) and�(iv)�
[3] Only (iii)  

[4] Both (ii) and (iii) �

��$� 0�%��7�����������������	�1%�%�;��������-�
�-9���0�1���

[1] 7 	�1%�4  

[2] 10 	�1%�4 

[3] 10 	�1%�5  

[4] 12 	�1%�5�

  
��$� The Lok Sabha and Rajya Sabha 

seats in Haryana are :�

[1] 7 and�4  

[2] 10 and�4 

[3] 10 and�5  

[4] 12 and�5�
ssssss  
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��� ����	� ��� ��#$%��	� ��� �
���&�� ��� �����&�	�

��	��	��	��	���'����������()	���������

�

[1] ��#$%��	�����
���&���
� ��*	�)��������

	�����������+���#������)��	��),"�
�

[2] ��#$%��	��!�����������������),"�

�

[3] ��#$%��	� ����� ����&���� ��� � ��-��� ���

.������ ��� /)����0���� 1���� )$��� ���
��	��),�"�

[4] ��#$%��	�.����)�	�2�����)	������1����

����#$%��	� ���� ������&�	� ��� �
� 30���

�����	��),�"�

  

��� Identify the incorrect statement 

about term of office of the President 

of India ? 

[1] The President term of office is 

five years from the date on 

which vacancy occurs. 

[2] The President is eligible for re-

election. 

[3] The President may be impeached 

only for violation of the 

constitution. 

[4] The President may resign in 

writing under his hand addressed 

to the Vice President of India.�


��� �����40��!�	��'The Unipolar World – 

An Unbalanced Future' ������ 1����

�������5��6�

[1] ��7�����/��)��

[2] $�7���7�/�,���.�,��8�7���7��,����

[3] ���������9����

[4] :������ ;!�!0�/�� .�,�� ��7� ��7�
)��$��$��

  
��� The famous book� 'The Unipolar 

World – An Unbalanced Future' has 

been written by :�

[1] C. Raja Mohan�

[2] T. S. Mowle and D. H. Sacko�

[3] Colin Powell�

[4] Francis Fukuyama and S. P. 

Huntington�



������ �������

��	�
���
��� � �


��� �<���<���<���<��-I ����<���<���<���<��-II ��� �/����������.�,��
�<��0���� ��� ����� �
�� ��� �<$� /��� ��� �)��)��)��)��
���������0����������
� �<���<���<���<��-I � �<���<���<���<��-II�
A. ��7� ��7�

=)�0��
i. ����	� ��� ����&����

.�������),�
B. ���*��>8%������ ii. ����� 
����� 4>�����

����.&��?��-��0�),�
�

C. ������ iii. ��-�@�4������A���>��
���4�B���������'��
�

D. �����C�� iv. ����	�0�=0��'���
.30�	���-��0�),�

�<$��<$��<$��<$���������
 A B C D  

[1] i ii iv iii 

[2] iii iv ii i 

[3] ii i iv iii 

[4] ii iv i iii�

  
��� Match List-I with List-II and select 

the correct answer by using the 

codes given below the lists :�
� List-I  List-II 

A. K. C. Wheare i. India is a case sui 

generis 

B. Alexandrowicz ii. System of 

Government which 

is quasi-federal 

C. Appleby iii. Federation with 

strong centralising 

tendencies  

D. Jennings iv. Indian system is 

extremely federal 

Codes :����
 A B C D  

[1] i ii iv iii 

[2] iii iv ii i 

[3] ii i iv iii 

[4] ii iv i iii�


��� ��
�
�����	������0�4>����������!&�������������
����	��������4&���/���������7�.��7��� �5��
��/�	�����D����0��'���6�
�
[1] ���)��������)E�
[2] �����)�
!��
������
[3] 5��
�����+&���
[4] ��7���7������)������

  
��� Which Prime Minister of India 

formed the N. R. Pillai Committee to 

improve the functioning of foreign 

policy ? 

[1] Jawahar Lal Nehru 

[2] Lal Bahadur Shastri 

[3] Indira Gandhi 

[4] P. V. Narasimha Rao�


 �� ����	����4'�/�.�>�������F��	�.�,�������
E����������)!.����
[1] �����@�2002�
[2] �
����@�2002�
[3] �����@�2003�
[4] ;����@�2004�

  
 �� India's First Nuclear doctrine was 

officially released in : 

[1] November,�2002�
[2] December,�2002�
[3] January,�2003�
[4] February,�2004�



� ��� ��� ������

��	�
���
��� � ���������


!�� �<���<���<���<��-I ����<���<���<���<��-II ��� �/����������.�,��
�<��0���� ��� ����� �
�� ��� �<$� /��� ��� �)��)��)��)��
���������0����������
� �<���<���<���<��????I��������

G��H0IG��H0IG��H0IG��H0I����
� �<��?�<��?�<��?�<��?II��������

G�
�0���&����G�
�0���&����G�
�0���&����G�
�0���&����
���#�
I���#�
I���#�
I���#�
I����

A. .�(&���4
�
�� i. 75 (63 + 12) 

B. ��)��� ii. 40 (34 + 6) 

C. /)���#$%� iii. 58 (50 + 8) 

D. 	�������� iv. 78 (66 + 12) 

�<$���<$���<$���<$������
 A B C D  

[1] ii i iv iii 

[2] iii i iv ii 

[3] iv ii iii i 

[4] i ii iii iv�

  
!�� Match List-I with List-II and select 

the correct answer by using the 

codes given below the lists :�
 List-I  

(States) 

 List-II 

(Members 

Legislative 

Council) 

A. Andhra Pradesh i. 75 (63 + 12) 

B. Bihar ii. 40 (34 + 6) 

C. Maharashtra iii. 58 (50 + 8) 

D. Telangana iv. 78 (66 + 12) 

Codes :����
 A B C D  

[1] ii i iv iii 

[2] iii i iv ii 

[3] iv ii iii i 

[4] i ii iii iv�


��� �<���<���<���<��-I ����<���<���<���<��-II ��� �/����������.�,��
�<��0���� ��� ����� �
�� ��� �<$� /��� ��� �)��)��)��)��
���������0����������
� �<���<���<���<��-I� � �<���<���<���<��-II�
A. 13��+� ��/� �
�����

��/����
i. /���
�0��

B. 14��+� ��/� �
�����
��/����

ii. *0<���

C. 15��+� ��/� �
�����
��/����

iii. �/���

D. 16��+� ��/� �
�����
��/����

iv. 5�����

�<$���<$���<$���<$������
 A B C D  

[1] iv iii ii i 

[2] iii iv i ii 

[3] i ii iii iv 

[4] ii i iii iv�

  
��� Match List-I with List-II and select 

the correct answer by using the 

codes given below the lists :�
 List-I  List-II 

A. 13th NAM 

Summit 

i. Malaysia 

B. 14th NAM 

Summit 

ii. Cuba 

C. 15th NAM 

Summit  

iii. Egypt 

D. 16th NAM 

Summit 

iv. Iran 

Codes :����
 A B C D  

[1] iv iii ii i 

[2] iii iv i ii 

[3] i ii iii iv 

[4] ii i iii iv�



������ ���!���

��	�
���
��� � �


"�� �����/��������,�-���0!C/���	��	��	��	�),�6�
�
[1] �<������.����
���������	��������)������

�
[2] �8J�����4'�/����	���.�5�7���7��!�����

�
[3] .�>�������F��	����7���7������0��

�
[4] ��
�!F��!$������2�	������������+&���

  

"�� Which of the following pair is 

incorrect ?�

[1] Look East Policy : Narasimha  

           Rao�

[2] Neighbours First Policy : I. K.  

      Gujaral�

[3] Nuclear Doctrine : A. B.  

   Vajpayee�

[4] Genuine Non-alignment : Rajeev  

     Gandhi�



�� ���������	� /��� ��� ��,�-��� 4��&���� &���
��&��0�����K�>���/����)���)���)���)���.�	��6�
�
[1] ����� ��� ��� .�&�����>�@� �3��
�@�

���)��@�����	���0������0/��
[2] �����=00���������&�	���&��0��.�,������

.�!LM�
� 110� ��� �����&�	� ����� /�/���
����!8J���)���)���

[3] ������ 1���� &��� �&���� ����� ���
����0/��

[4] ����	� ��� ����	� ���&�� /��� ��� &��� ���
����0����

  

�� Which of the following provision 

does not belong to the category of 

Money Bill ? 

[1] Imposition, abolition, remission, 

alteration or regulation of any tax 

[2] A bill merely involving 

expenditure and does not cover 

any matter mentioned in Art. 110 

[3] Regulation of the borrowing of 

money by the Government 

[4] Appropriation of moneys out of 

the consolidated fund of India�

����� ����	������
�
�����	���/��>��4�N0����������
/������������	�/��������,�-������	�.��������
�)��)��)��)��� ����),�6�

[1] ����	�/����
,�������
�������
�
��/�/�����
���/��������/���)��),�
�

[2] 4&���/����1������
�
��/�/��������4��!3��
�

[3] ��
�
�� ����.���� ��� .�0��O	� ���'��3/��
������

[4] ��
�
�� ���	� /�/����� ��� .30�&���
������0	��

  ����� Which of the following is not a valid 

criticism of the foreign policy 

formulation process in India ? 

[1] India has always lacked a 

professional Minister of External 

Affairs 

[2] Domination of foreign affairs by 

Prime Ministers  

[3] Inadequate institutional 

development of foreign services 

[4] Excessive confidentiality of 

foreign policy matters�



� ������� ������

��	�
���
��� � ���������

����� ���� .�&���� ��� ��� /	
�	�� ���� .0��C0�
��0�������	��),�6�
(A) .������
(B) .���&��
(C) ���#$�0��.�,&��.���>��
(D) �������P�	 

�<$�<$�<$�<$������������
[1] �����A�.�,��B�
[2] �����A�.�,��C�
[3] �����B .�,��D 

[4] A,�B, C .�,��D�

  
����� On which ground/s a voter may be 

disqualified ? 

(A) Non-residence�
(B) Crime�
(C) Corrupt or illegal practice�
(D) Unsoundness of mind 

Codes :����
[1] Only�A and�B�
[2] Only�A�and C�
[3] Only�B and�D 

[4] A,�B, C and�D�

����� ��0!*	� ��#$%� /)������ ��� ��� .�,�������
E������5��.�	���#$%�0�.��'���� =0��'������
4�	�������	���0��6�
[1] /5�@�1974  

[2] /5�@�1975�
[3] /5�@�1976  

[4] /5�@�1977�

  ����� When did the UN General Assembly 
officially pass a resolution for the 
establishment of New International 
Economic Order ? 
[1] May,�1974  
[2] May,�1975�
[3] May,�1976  
[4] May,�1977�

����� ���������	� /��� ��� �����L�� (0�0��0����
(0�0��D��)���)���)���)����),�6�
[1] ���5���L��(0�0��0�
[2] ����'�����L��(0�0��0�
[3] �!���	��L��(0�0��0�
[4] ��������L��(0�0��0�

  ����� Which of the following High Courts 

do not have a Bench ? 

[1] Bombay High Court 

[2] Rajasthan High Court 

[3] Gujarat High Court 

[4] Calcutta High Court�
����� 1942� /��� �NO�� �/
��� 1���� �
�� ���

4�	������/������ �����/��������,�-��/����'���
�)��)��)��)��),/),��6�
(A) ����	��������&��������������	�����&����

�����1�������0�������'��"�
(B) ����&���� ���� ����	� ���� �<>��� ���&���	��


�������)�"�
(C) �����4�(	����.�,��
�
��� ��0��	�������0!*	�

�������	�0���-����������)�"�
�<$���<$���<$���<$�� 
[1] �����A �)��),�
[2] �����A .�,��B �)��),��
[3] �����A .�,� C �)��),��
[4] �����B .�,� C �)��),��

  ����� Which of the following statement/s 
is/are correct about the proposals 
offered by the Cripps Mission in 1942�?�
(A) The Constitution of India was to 

be framed by an elected 
Constitutent Assembly.�

(B) The Constitution should give 
complete independence to India.�

(C) There should be one Indian 
Union comprising all the 
provinces and princely States.�

Codes����: 
[1] Only�A is correct�
[2] Only�A and�B are correct�
[3] Only�A and C are correct�
[4] Only�B and C are correct�



������ ���"���

��	�
���
��� � �

�� �� �����/��������,��.���0���������'��������/���
�������)���)���)���)���'���6�

[1] �����������/����

[2] �!��>�����

[3] '��	�����/��

[4] �8/�/����

  �� �� Who among the following was not 

one of the founders of ASEAN ? 

[1] Narciso Ramos 

[2] Sukarno 

[3] Thanat Khoman 

[4] Adam Malik�

��!�� ���� ����&���� ��
���&��� .�&���0/� ��� 1����
/���� ���#�
� ��� ���0�� ��������� ��� �!��
�
�0����������0�����15�4�	
�	����.�&���
�)���)�����	��),�6��
�
�

[1] 89��+�����&������
���&���.�&���0/�
�

[2] 90��+�����&������
���&���.�&���0/�
�

[3] 91��+�����&������
���&���.�&���0/�
�

[4] 92��+�����&������
���&���.�&���0/�

  
��!�� By which of the following 

Constitutional Amendment Act, the 

size of the Council of Ministers shall 

not exceed 15 percent of the total 

number of the members of the House 

of People ?��

[1] 89th Constitutional Amendment 

Act�

[2] 90th Constitutional Amendment 

Act�

[3] 91st Constitutional Amendment 

Act�

[4] 92nd Constitutional Amendment 

Act�

����� ���� ����&���� ��
���&��� .�&���0/� 1����
/	
������.�0!�21��#������-�$����18 �#���
���
���5��6�

[1] 60��+���
���&���

[2] 61��+���
���&���

[3] 62��+���
���&���

[4] 63��+���
���&���

  ����� By which Constitutional Amendment 

Act voting age was reduced from  

21 years to 18 years ?�

[1] 60th Amendment�

[2] 61st Amendment�

[3] 62nd Amendment�

[4] 63rd Amendment�



� ���
��� ������

��	�
���
��� � ���������

��"�� ���������	�/��������,�-���0!C/���	��	��	��	�),�6�
� G�!�	�IG�!�	�IG�!�	�IG�!�	�I���� ���� G�����IG�����IG�����IG�����I����
[1] ��0<�,��H/� 5��

5�>80��
��.���� .���
5�����0�@� /��5���

������

[2] ��0<�,��H/� 5��
5�>80�����)�$%�@�
��9���$*�� �>8�
� ���

����7���7���>�*���

[3] ��0<�,��H/� 5��
5�>80��
��9���$*��

����������D����

[4] ��0<�,��H/� 5��
/�98���5�>80��

��/!���!���)/���

�

  ��"�� Which of the following pairs is 
incorrect ? 

 (Book)  (Author) 

[1] Communalism 

in India 

: Asghar Ali 

Engineer, Moin 

Shakir 

[2] Communalism 

in India : 

History, 

Politics and 

Culture 

: K. N. Panikkar 

[3] Communalism 

in Indian 

Politics 

: Rajni Kothari 

[4] Communalism 

in Modern 

India 

: Mujibur Rehman 

�

��
�� ����� /��� ��� ��,�-��/��� �'��� �)�� ),/),�� 6�
����� �
�� ��� �<$� /��� ��� �)��)��)��)�� ����� ���
�0����������
(A) /����.�&������������������,�/��-���#�>�����

���� 10� �
����@� 1948 ���� ���P	�
��0���0��'��"�

(B) 16� �
����@� 1968� ���� .��'���@�
��/����� .�,�� ����P�	�� .�&�������� ���
.(	���#$%�0� 4����
�� (ICESCR)@�
������� .�,�� ������	�� .�&�������� ���
.(	���#$%�0� 4����
�� (ICCPR) .�,��
�,�� ����/Q�,	�����P	�������"�

(C) �������.�,�� ������	��.�&�������� ���
.(	���#$%�0� 4����
�� (ICCPR) .�,��
�,�� ����/Q�,	��28�/���@�1976�����
���<�)!�"�

�<$���<$���<$���<$������
[1] �����(A) �)��),�
[2] �����(A) .�,��(B) �)��),��
[3] �����(B) .�,��(C) �)��),��
[4] (A), (B) .�,��(C) �)��),��

  ��
�� Which of the following statement/s 

is/are correct ? Select the correct 

answer from the codes given below :�
(A) The Universal Declaration of 

Human Rights was accepted on 

December�10,�1948.�
(B) On December 16,� 1968 the 

International Covenant on 

Economic, Social & Cultural 

Rights (ICESCR), ICCPR and 

optional protocol were accepted. 

 

(C) The International Covenant on 

Civil & Political Rights (ICCPR) 

and the optional protocol came 

into effect on March 28,�1976.�

Codes : 

[1] Only�(A) is correct�
[2] Only�(A) and�(B) are correct�
[3] Only�(B) and�(C) are correct�
[4] (A), (B) and�(C) are correct�



������ �������

��	�
���
��� � �

����� ���������	�/��������,�-�����*0���	��	��	��	�),�6�
�

[1] �
R
��
�������� (0�0��0�/���4��	�	���0��
�����	��),"�

[2] �
R
��
����0)��	�	��),��������&�������
4��&������������	�*0��),"�
�

[3] �
R
��
���� 0)� �	�	�� ),� ��� ����&����
�����
R
�
0��������4�O	��������)	��),"�

[4] �
R
��
���� ����	� ���� 4��!3����(��
�/����
�� ��'�-�����2�� ����	������
�>���H0����	��),"�

  
����� Which of the following statements is 

incorrect ? 

[1] The Preamble of India is 

enforceable in a Court of Law. 

[2] The Preamble indicates the 

source from which the 

Constitution derives its authority. 

[3] The Preamble states the objects 

which Constitution seeks to promote. 

[4] The Preamble constitutes India 

into a sovereign socialist secular 

democratic republic.�

����� �L�	/� (0�0��0� ��� (0�0�&��
�� ���
/)����0���� ��� �����&�	� ����� /��� �����,�-���
�'�����	��	��	��	�����),�6�
[1] ��������� ��� �/� ��� �/� 100� 0��

��H0����� ��� �/� ��� �/� 50� �
�0����
1���� ��#$%��	����� ������&�	���� 4�	���
/!�0�(0�0�&��
�������
0����	��),"�

[2] 5�� 4�	��� ��� .(��#�>�� 	��� �
�0����
��� ��/�	� 1���� ��0����	�� ),� G5�/���

����L�	/�(0�0��0����(0�0�&��
��.�,��
���4�0�	����&�������)��	��),�I"�

[3] 0�
�4�	���430����
������!���
�0�
���0������)!/	�1����	'�������'�	�.�,��
/	�
����������
�0��������/�����/�
��-
�	)�5���)!/	�1��������	�����
0����	��
),�	�����#$%��	������/���
��4�	!	���0��
��	��),"�

[4] ��#$%��	�����/���
�����.�
�
����	��
),��	���(0�0�&��
��)$���
0�������"�

  
����� Which of the following statement is 

incorrect about impeachment of a 

Judge of the Supreme Court ?�

[1] A motion addressed to the 

President signed by at least 100 

members of the Lok Sabha or 50 

members of the Rajya Sabha is 

delivered to the Chief Justice of 

India.�

[2] The motion is to be investigated 

by a Committee of three members 

(2 Judges of the Supreme Court 

and a distinguished Jurist).�

[3] If the motion is passed in each 

House by a majority of that 

House and not less than 2/3rd of 

those present and voting the 

address is presented to the 

President.�

[4] The Judge will be removed after 

the President gives order for 

removal on the said address.�



� ������� ������

��	�
���
��� � ���������

����� ���������	� /��� ��� ��,�-��� ��H0� �����

.�0���������0���)���)���)���)����),�6�
�

[1] ����0	���� ��� �����0� ��'��	� ��� �/�2���
�����

[2] ����0	���� ��� �)�0	�� .�!
��� ��� ����
��;���
�������

[3] ����0	���������	!�����������������)����

�����;���
�������

[4] ����0	���� ��� �����(�� �	����� ��� ���� ���
.��/���������	�>�������;���
�������

  

����� Which of the following is not a 

function of the State Finance 

Commission ? 

[1] To review the financial position 

of the Panchayats 

[2] To make recommendation regarding 

grant-in-aid to the Panchayats 

[3] Recommend the share of GST to 

the Panchayats 

[4] Recommend how allocation of tax 

proceeds would be made among 

various levels of the Panchayat�

����� ���������	�/��������,�-���0!C/���	��	��	��	��),�6�
�
� G��
IG��
IG��
IG��
I���� ���� G�����L��G�����L��G�����L��G�����L��

(0�0��0�/���(0�0��0�/���(0�0��0�/���(0�0��0�/���
��>���	I��>���	I��>���	I��>���	I����

[1] 5(A�� ��)��� ����
.(0� ���/� ����	�
��-��
�

: 16 �����@�
1992�

[2] ��
�����
� ����	��
���/� ����� ��H0�
����.(0�

: 24� .4,�@�
1973�

[3] ��7�.��7�����/5��
���/�����	���-��
�

: 11 /���@�1994�

[4] /����� ��+&��� ���/�
����	���-��

: 25������@�
1976�

�

  ����� Which of the following pairs is 

incorrect ? 

 (Case)  (Decided in 

Supreme 

Court) 

[1] Indra Sahney & 

others Vs. 

Union of India 

: 16th 

November, 

1992 

[2] Keshavanand 

Bharti Vs. State 

of Kerala & 

Others 

: 24th April, 

1973 

[3] S. R. Bommai 

Vs. Union of 

India 

: 11th March, 

1994 

[4] Maneka  Gandhi 

Vs. Union of 

India 

: 25th January, 

1976 

�



������ �������

��	�
���
��� � �

����� �����@�1993�/���E����� ��#$%��	��������
0� 	���� ��� ����	� 0���� ��� ����� /��� ���
��,�-���/)���<>������>��/��)���)���)���)���'���6�
�
[1] ����	� ���� �,���� ���!���� 
���� ���

.�
�����
[2] S�0�/S��� ����/0� 
�� /!
R
�� ���

�/�&����
[3] N�0������������$�5����
���������
��

�
[4] ����.�&���)�	���
/�����������	������

��������������E�����
����

  ����� Which of the following was not an 

important outcome of Russian 

President Boris Yeltsin's visit to 

India in January, 1993 ? 

[1] Assurance to provide military 

spare parts to India 

[2] Issue of Rupee-Ruble exchange 

rate resolved 

[3] Delivery of Cryogenic Rocket 

engines promised 

[4] Russia to put pressure on 

Pakistan to withdraw from POK�

�� �� .�!LM�
� 51� ��� .�!���� ����� /��� �����
��,�-�������	����.�	���#$%�0���
���)���)���)���)���),�6�
�

[1] .�	���#$%�0� 
����	� .�,�� �!�2��� ���
.����B�F��

[2] .�	���#$%�0� ����
���� ���� /&0�'�	�� 1����
���$��������4��3��)��
�

[3] ��#$%�������/&0�(0�0���	�.�,����/���<>���
����&���������������

[4] ��
������>�� .�,�� 
���� ��0��>�� ���
.����B�F�

  �� �� Which of the following is not an 

international obligation of India 

according to Article 51 ? 

[1] Promote international peace and 

security  

[2] Incourage settlement of 

international disputes by 

arbitration 

[3] Maintain just and honourable 

relations between nations 

[4] Promote disarmament and arms 

control�

��!�� ��H0���������!����D	�������������0�������
��/�.���� /��� ����	��� ����� ��� ���@� ��-��0�
=0��'��������������)����

[1] ��&���>���)!/	�

[2] 
��-�	)�5���)!/	�

[3] �����&�	���H0��������)/�	�

[4] ����'�	�.�,��/	
��������������
�0����
���
��-�	)�5���)!/	�

  ��!�� To reorganize the states or to alter 

their boundaries, the Union 

Parliament requires : 

[1] A simple majority 

[2] Two-third majority 

[3] Consent of the concerned states 

[4] Two-thirds majority of those 

present and voting�



� ������� ������

��	�
���
��� � ���������

����� ����&���� ��� ���������	� /��� ��� ��,�-���
4��&������� ��� ��
���&��� ��� ���� �/� ��� �/�
.�&��� ��H0���� ��� ��&���� />8����� 1����
.�!�/'�������.��
0�	��)��	��),�6�

(A) ��#$%��	������������������	�
�

(B) .�!LM�
�368����4��&����

(C) ���
�/�����H0�������4�	���&�3��
�

(D) �����L��.�,���L��(0�0��0�
 

�<$�<$�<$�<$������������

[1] �����A�.�,��B�

[2] �����A�.�,��D�

[3] �����B .�,��D�

[4] A,�B, C .�,��D�

  ����� Which of the following provisions of 

the Constitution require ratification 

by not less than one-half of State 

Legislatures for amendment ?�

(A) Manner of election of the 

President�

(B) Provisions of Article 368��

(C) Representation of States in 

Parliament�

(D) The Supreme Court and High 

Courts 

Codes :����

[1] Only A�and�B�

[2] Only A�and�D�

[3] Only B and�D�

[4] A,�B, C and�D�

��"�� ����� ��� ���� �
����� ��/���� /��� 
�2�>��

��
�0�5�� ������ ���#�� (SADF)� ���� �����

������ ���#�� (SDF) ��� E�� /��� �!����D	�

��0���0��'���6�

[1] 10��+�������
�������/���@�2002 

�

[2] 11��+�������
�������/���@�2003 

�

[3] 12��+�������
�������/���@�2004 

�

[4] 13��+�������
�������/���@�2005�

  ��"�� In which Summit meeting of the 

SAARC, South Asian Development 

Fund (SADF) was reconstituted in 

the form of SAARC Development 

Fund  (SDF) ?�
[1] 10th SAARC Summit 

Conference,�2002�
[2] 11th SAARC Summit 

Conference,�2003�
[3] 12th SAARC Summit 

Conference,�2004�
[4] 13th SAARC Summit 

Conference,�2005�



������ �������

��	�
���
��� � �

��
�� ��H0����� ��� �D����� �����&�	� ��	��	��	��	��'���
�������()	���������
�

[1] ��H0�����/���250����.�&�� �
�0��)���
)�����"�
�

[2] 12� �
�0� ��#$%��	� 1���� ��/���
�#$�
)�����"�

[3] 
��#��238 �
�0���H0�.�,����-�� ��H0�
2����������4�	���&��)�����"�
�

[4] ��/��
���
�	��
�0��������������/�������!���
���+��� ��()��� T���)30@� ��$R0
����@�
��U��@�����.�,���/���������������&��
/��� ��
��#�� U��� 0�� =0��)����� .�!����
),"V�

  ��
�� Identify the incorrect statement 

about the composition of the Council 

of States :�

[1] The Council of states shall be 

composed of not more than�250 

members.�

[2] 12 of the members shall be 

nominated by the President.�

[3] The remainder of 238 members 

shall be representatives of the 

states and the Union territories.�

[4] Nominated members shall be 

chosen from amongst persons 

having 'special knowledge or 

practical experience in literature 

theatre, science, art and social 

service.'�

����� ����-��)E�����/��@�����	�0���
�
�����	����
2����0� �
R
�
0���� ��� ����� /���� ��,�-��� �'���
��	��	��	��	�),�6�
�

[1] ����	�����,(0�
��*	����4����
�

[2] 
�2�>�� ��
�0�� ��� �8J����0���� ��� ��'��
�1�2��0�����&���������4��3��)��

[3] �8J�����
�
�����/����������4������������/	�
�����

[4] ����	-���� �/�0�.���� ��� �/�&���� ���
����./������/&0�'�	��.�/���	������

  ����� In the post-Nehru era, which 

statement is incorrect about the 

regional objectives of Indian foreign 

policy ? 

[1] Expansion of India's military 

power 

[2] Promote bilateral ties with South 

Asian neighbours 

[3] Minimize Chinese influence in 

neighbouring states  

[4] Seek US mediation to resolve 

Indo-Pak problems�



� ��� ��� ������

��	�
���
��� � ���������

����� ���������	�/�������������)��TT��#$%�0	�����
��F�(	� �/����
� ��� ��F�(	� ��� .�&���
���)0�	�.�,��.�&���.�����&���),VV�6�
�
[1] ��7���7��/�� �
[2] ����8������;�
[3] ��J�/��� �
[4] ��98���*$��

  ����� Who among the following said, "The 

theory of nationality is more absurd 

and more criminal than the theory of 

socialism" ? 

[1] J. S. Mill  

[2] Bernard Joseph 

[3] Zimmern  

[4] Lord Acton�

����� ���������	�/��������,�-�����0!*	���#$%����
��$���=0��'������.�!��	�.��������),�6�
�
[1] 0)��/��	�������F�(	����� ��-���),"�
�
[2] 0)���
����/	����.�)�������	��),"�
[3] 0)� �'��0�� �
�0���� ��� �����!
�	�� ���

4	���),"�
[4] 5����40����/)�
��*	0����1����.�	����
�

����4��3���)	���������������0����	��),"�

  ����� Which of the following is an invalid 

criticism of the Veto system in the 

United Nations ?�
[1] It is a violation of the principle 

of equality.�
[2] It ignores global opinion. 

�
[3] It symbolises autocracy of 

permanent members.�
[4] It is used by great powers to 

promote terrorism.�

����� ���������	� /��� ��� ��,�-��/��� �'��� �)��)��)��)��
),/),��6�
(A) ��'�?�����2�	�� ����&���� ��� .�&�����<	�

��
��#�	��),"�
(B) ��'�?�����2�	�� =0�*	�	� .�,�� ��/<�)��

.��	3�� ��� ���������.�,�� ����� 2�������
����B'���)��������.�&����	�),"�
�

(C) ��� ��'�?�����2�� ��H0� /��� ��H0� ����
.����
��*	������,&�������������������
&�/��������P�	�������8J	��)," 

�<$���<$���<$���<$������
[1] �����A .�,��B �)��),��
[2] �����B .�,��C �)��),��
[3] �����A .�,��C �)��),��
[4] A, B .�,� C �)��),��

  ����� Which of the following statement/s 

is/are correct ?�
(A) Secularism is a basic feature of 

the Constitution.�
(B) Secularism is promised upon the 

separation of the public and 

private spheres of individual and 

collective existence.�
(C) In a secular society, the state 

requires the sanction of religion 

to legitimize its power. 

Codes : 

[1] Only A and�B are correct�
[2] Only B and�C are correct�
[3] Only A and�C are correct�
[4] A, B and�C are correct�



������ ���!���

��	�
���
��� � �

����� ��	��	��	��	���'����������()	���������

[1] ��	�0��/<)�������� ��!����� ���>��/��������

��&�����	� ����� ��� E�� /��� 4�	!	� ��0��

��	��),"�

[2] ����	�0� ��H0� ��� 
����� ���>8�� ����

4�����	� ����� /��� ��	�0� �/<)� 
����
�/<)������0����	��),�"�

[3] ����	�/�����	�0���N0	����������������


B�#$� ��� .�!E�� ),� ��()������ ����	� ���

����&�������0��'��"�

[4] ��	�0� /�/��� ������	�� 
����@� �����

��	B3�� .�,�� ��0�N/���� ���� ��E�� 4
���
��	��),�"�

  ����� Identify the incorrect statement : 

[1] Caste communities are presented 

as determining electoral outcomes. 

 

[2] Castes work as pressure groups 

influencing the governance 

agenda of the Indian State. 

[3] Caste activism in India is as per 

the vision of those who framed 

the Constitution of India. 

[4] Caste considerations structure 

political parties, their leaderships 

and programmes.�

�� �� �����/��������,�-���0!C/��)��)��)��)���),��6�
�

(A) 4>����&������ � �
� ������$���

5�����9/�� .�9;�

8����/��$�5��5�>80��

�

(B) .	!�����)����� � �
� �$�$� ��8� ��9�$���

5��5�>80��

(C) ./30����7�������8����/��$����J�:�8/�
 

[1] �����(C) �)��),�

[2] �����(B) .�,��(C) �)��),��

[3] �����(A) .�,��(B) �)��),��

[4] (A), (B) .�,��(C) �)��),��

  �� �� Which of the following pairs are 

correct ? 

(A) Pranab Bardhan : The Political 

Economy of 

Development 

in India 

(B) Atul Kohli :  The State and 

Poverty in 

India 

(C) Amartya K. Sen : Development 

as Freedom 

[1] Only (C) is correct 

[2] Only (B) and (C) are correct 

[3] Only (A) and (B) are correct 

[4] (A), (B) and (C) are correct�



� ������� ������

��	�
���
��� � ���������

��!�� ���������	�/��������,�-����'��������	��	��	��	����),�6 

[1] ���
� ���&�� 1���� ����� ��H0� /��� ���
�������H02����.��������.'����
���
0��.�&�����H0��������0����H0���������������
�����/�����.'�����������H0�2��������
����� ��H0� ��� ����� ��� ��'�� �/�����
�����H0������/��>����������"�

[2] ���
� ���&�� 1���� ����� ��H0� ��� 2����
�WJ�������"�

[3] ���
� ���&�� 1���� ����� ��H0� ��� 2����
-�$�������"�

[4] ���
����&��1��������	��������&�������
��-��0��������/�������	�����������"�

  ��!�� Which of the following statement is 

incorrect ? 

[1] Parliament may by law form a 

new state by separation of 

territory from any state or by 

uniting two or more states or 

parts of states or by uniting any 

territory to a part of any State.  

[2] Parliament may by law increase 

the area of any State. 

[3] Parliament may by law diminish 

the area of any State. 

[4] Parliament may by law alter the 

federal structure of Constitution 

of India.�

����� .�&�������� ��� �,&������ ��F�(	� ��� ����� /���
���������	� /��� ��� ��,�-��X��� �'��� �)��
�)���)���)���)����),X),��6�
(A) .�&����������2��),�"�
(B) .�&�������H0����1�����������	��),�"�
(C) .�&�����/�!#0����/���.�	����)	�),�"�
(D) .�&�����P��/�),�"�
�<$���<$���<$���<$������
[1] �����(A) ��	�),�
[2] �����(A) .�,��(B) ��	�),��
[3] �����(A) .�,��(C) ��	�),��
[4] (A), (C) .�,��(D) ��	�),��

  ����� Which of the following statement/s 

about the Legal theory of Rights 

is/are incorrect ? 

(A) Rights are absolute. 

(B) Rights are created by the state. 

(C) Rights are inherent in men. 

(D) Rights are artificial. 

Codes : 

[1] Only (A) is incorrect 

[2] Only (A) and (B) are incorrect 

[3] Only (A) and (C) are incorrect  

[4] (A), (C) and (D) are incorrect 

��"�� ���������	� /��� ��� ��,�-��� ����	��� ���
.��!>�����E��/�����	��	��	��	��),�6�
[1] ����	����)!	���������
�����=0��'���),"�

�
[2] ����	���.������0�4>�����/���&��/��.�,��

�!�	�),"�
[3] ����	���/����������
�	��),�������!>��

��"�
[4] ����	��������������������	��4�!F	������

�����	��)��������	��),"�

  
��"�� Which of the following is an 

incorrect demerit of democracy ? 

[1] Democracy is a very expensive 

form of government. 

[2] Democracy is slow and sluggish 

in its movement. 

[3] Democracy puts emphasis on 

quantity and not quality. 

[4] Democracy fails to develop 

political intelligence of the people.�



������ ���"���

��	�
���
��� � �

��
�� .����'��.����'��.����'��.����'�� (A) : ����	�0� ����&���� ��/��	�.����
��� ��� &�/������2�� ��H0�
������ ��� ����)
��
.����0�	�� ����	� ��� �)!��
��/����� =0��'��� ��� 4�	�
���.�!�N0��'��"����

���>�����>�����>�����>��(R) : ����	�0� ����&���� ��/��	�.����
��� �/��� ������� ���)	��
���� ��H0� ��� ���	� ��
�
���
	������/����'�����
0�" 

[1] A .�,��R =0�*	�	�E�����
��������)��
),��.�,��R, A ����)��=0��0��),"�

[2] A .�,��R =0�*	�	�E�����
��������)��
),��������R, A ����)�� =0��0���)���
),"�

[3] A �)��),�������R ��	�),"�
[4] R �)��),�������A ��	�),"�

  ��
�� Assertion (A) : The desire of the 
makers of the 
constitution to create a 
secular state was also 
essentially a response 
to India's plural social 
order. 

Reason (R) : The framers of the 
Indian Constitution 
placed the Uniform 
Civil Code in the 
directive principles 
of State Policy. 

[1] Both A and R are individually 
true and R is the correct 
explanation of A.  

[2] Both A and R are individually 
true but R is not the correct 
explanation of A. 

[3] A is true but R is false. 

[4] A is false but R is true.�

����� .����'���.����'���.����'���.����'���(A) : .��	<�����F�	��,U�����
.�,��0'��'����
��),"�
���>�����>�����>�����>�� (R) : .��	<� .���� � ���� ����
����#0��(/!������	��),��.�,�����.�

�����H0�
���M������	!	���	��),�" 
[1] A .�,�� R =0�*	�	�E����� �)�� ),��

.�,��R, A ������	�=0��0��),"�
[2] A .�,�� R =0�*	�	�E����� �)�� ),��

������R, A ������	�=0��0���)���),"�
[3] A �)��),����R ��	�),"�
[4] A ��	�),����R �)��),"�

  ����� Assertion (A) : Aristotle's method is 
scientific and realistic. 

Reason (R) : Aristotle projects his 
imagination into the future and 
portrays the picture of an ideal state. 

[1] Both A and R are individually 
true and R is the correct 
explanation of A.  

[2] Both A and R are individually 
true but R is not the correct 
explanation of A. 

[3] A is true but R is false.  

[4] A is false but R is true. 

����� �����/��������,��T.�,Y����������	��V��!�	��
���������),��6�
[1] �����/�*���
[2] ��8����������$%������
[3] ��9�$��8�)��
[4] �8�8��$Z$�

  ����� Who among the following is/are  
the author/authors of 'Industrial 
Democracy' book ? 

[1] Karl Marx 

[2] Sidney and Beatrice Webb 

[3] Robert Dahl 

[4] Edward Tufte 



� ���
��� ������

��	�
���
��� � ���������

����� ���� �#��� /��� ��0!*	� ��#$%� �!�2��� ���#�
� ���
�
�0����0��11����15��WJ��
���5��6��
[1] 1964 [2] 1965�
[3] 1966 [4] 1967�

  ����� In which year membership of the UN 
security council was raised from 11 
to 15 ? 

[1] 1964 [2] 1965�
[3] 1966 [4] 1967�

����� ���������	� /��� ��� T�8���$��� C���[��5��
��V�
(2005)������������,��),��6�
 

[1] ��J[C(0<�������������

[2] )�������������

[3] ���8������N����

[4] 8���8�)� 8�

  ����� Who among the following is the 

author of 'Debating Globalization' 

(2005) ? 

[1] Zbiegnew Brzezinski 

[2] Henry Kissinger 

[3] Richard Rosecrance 

[4] David Held�

����� ����� /��� ��� (0��� 2���� .�,�� ����� 
�����
��H0���������/�����,�-���0!C/���	��	��	��	��),�6�
[1] 	��������� �� :����
[2] ��,E� �� .�9�$%���0��
[3] ���>8���S�8�� �� ��� �0/�
[4] ���/����,�8� �� 5$���

  ����� Which of the following pair about 
trust territory and its administering 
state is incorrect ? 

[1] Tanganyika : France 

[2] Nauru : Australia 

[3] Rwanda Urundi : Belgium  

[4] Somaliland : Italy�

�� �� ���������	� /��� ��� ��,�-��/��� �'��� ��H0�
.�,���/����������&��������#$���	��),��6�
�
�'�����'�����'�����'��������
(A) ��H0� ������	�� E�� ��� ����D	��

�/���),"�
(B) ��H0� .�,�� �/��� 
������� )�� ��� ���

�,&��������0���������	��),�" 
(C) �/��� .�,�� ��H0� ��� �/��� �,�	��

�
R
�
0�),�"�
�<$���<$���<$���<$������
[1] �����A 

[2] A .�,��B 

[3] B .�,��C 

[4] A .�,��C 

  
�� �� Which of the following statement/s 

explain the relationship between the 

State and Society ? 

Statements : 

(A) State is politically organized 

society. 

(B) Both State and Society can 

legitimately use force. 

(C) Society and State have the same 

moral purpose. 

Codes :  

[1] Only A 

[2] A and B 

[3] B and C 

[4] A and C�



������ �������

��	�
���
��� � �

��!�� ���������	�/��������,�-���.�&���0��	���
�����
��#�	���)���)���)���)���),�6�
[1] ����&���������������������.�&�����
�	��),"�
[2] .�&���0�	��� ��� 
�@� ��� ��	�� .�,��

�����0�N/�/�����
������	��),"�
�

[3] �����������0)�.��2��������	��),� ������
��	��/����<>���.��'����������"�

[4] ��	�� ��#$%�0� ��	�� .�,�� 4�	#D�� ���
4�	���&�3����	��),"�

  ��!�� Which of the following is not a 

characteristic of a dictatorship ? 

[1] People are given their rights by 

the Constitution.�
[2] Dictatorship believes in one 

party, one leader and one 

programme.�
[3] People are expected to have 

complete faith in their leader.�
[4] The leader represents national 

unity and prestige.�

����� �����/��������,�-���0!C/���	��	��	��	��),�6�
�
[1] ��0!*	���#$%�.�,Y���������������D�������

� � � �������0���
�

[2] .(	���#$%�0�K/����D������
��

[3] ��
��8�����-��������

[4] ��
��/�,�/���U������D�����������

  ����� Which of the following pair is 
incorrect ? 

[1] United Nations Industrial 
Development Organization :  
        Vienna 

[2] International Labour Organization  
   : London 

[3] Universal Postal Union : Berne 

[4] World Meterological Organization  
    : Geneva�

��"�� ���������	�/��������,�-���0!C/������	��	��	��	����),�6 

[1] TT.�&����� ��� ���	)����� �����'��	0�+�
�)��� ),�� ���� /���� ���	� ���� .����
.��
/�.��'����/���4�O	�'����.�,����()���
�)�������!���),"VV�−������ 

[2] TT.�&�������� ��� 4�	#D�� �����	� ���<��
��� .��2��� .�0��� .�,�� ������� ���
.�&�����������)	��),"VV�−������ 

[3] TT.�&����� ��/����� ����� ��� ���
�����'��	0�+� ),�� ������ .����� /���
.�/	�,�� ��� ���5�� ���� =0�*	� .����
����� .LM�� .��'��� ���� �)��� �)!+��
��	�"VV�−������ 

[4] TT.�&��������	-�������������������)!.��
��E��),"VV�−�������

  ��"�� Which of the following pairs is 
incorrect ? 

[1] "Rights are not historic 
conditions possessed by man in 
the childhood of the race, but 
since lost."�−�Laski 

[2] "The maintenance of right is 
much more a question of habit 
and tradition than of the 
formality of written enactment."�
−�Laski 

[3] "Rights, infact, are those 
conditions of social life without 
which no man can seek, in 
general, to be himself at his 
best."�−�Laski 

[4] "Rights are the crystallization of 
customs."�−�Laski�



� ������� ������

��	�
���
��� � ���������

��
�� �<���<���<���<��-I ����<���<���<���<��-II ��� �/����������.�,��
�<��0���� ��� ����� �
�� ��� �<$� /��� ��� �)��)��)��)��
���������0����������
� �<���<���<���<��-I� � �<���<���<���<��-II�
A. �$����$��

��$���
i. 21�.��	�–�7�

.*$<��@�1944�
B. 0� $�� ii. 25�.4,� – 26�

�<�@�1945�
C. 8��$���.��*�� iii. 14�.��	@�1941�
D. ����:��������� iv. 4-11�;����@�

1945�
�<$���<$���<$���<$������
 A B C D  
[1] iv ii i iii 
[2] ii iv i iii 
[3] iii ii iv i 
[4] iii iv i ii�

  ��
�� Match List-I with List-II and select 
the correct answer by using the 
codes given below the lists :�
� List-I� � List-II�

A. Atlantic 
Charter 

i. 21 August – 7 
October, 1944 

B. Yalta ii. 25 April – 26 
June, 1945 

C. Dumbarton 
Oaks 

iii. 14 August, 
1941 

D. San 
Francisco 

iv. 4-11 February, 
1945 

Codes :����
 A B C D  
[1] iv ii i iii 
[2] ii iv i iii 
[3] iii ii iv i 
[4] iii iv i ii�

����� ���������	� /��� ��� ��,�-��� 0!C/� �)��
�!/���	��)���)���)���)����),�6�
[1] ��7� ��7� .�0���� ��� .�!���@�

�1�
���
� ��� T��>��
��>��� ��F�(	V� ),�
.�,�� 
<���� �
����� ���� 5����� ���� �����
�0�� ),� ��� T������	�� 
����� ��� ���
=0�*	0���� ��� /)������2���+� �<��� )����� ���
.���� �/��� ��()��� �)��� �
�� /��� �'����
�)����/����	�V"�

[2] .����0�����.�!������T0�
�
<�����
��
�)��� �
�� ��� .�)/	� )��	�� ),� 	��� �)�

����	��.�,�� )�����)!+����� ����� ),\�.�,��
0�
� �)/	� )��	�� ),� 	��� ����� ���5��
�E�	��)����)���	�V"�

[3] ;�5��� ��� .�!���� �� T0�
� 
������� �
��
�)/	� )��	�� ),�� 	��� ���<����� ��� (0�0�<>��	��
.�,�� �����
���	�� ��� )/���� ��
����.�,��
�����*���)�����	��),\�0�
����.�)/	�)��	��
),��	���������������.����
B�#$���>������;�����
��������������.�����/�	��),V"�

[4] ������/�� :,������ ��� .�!���� �� T
<����
�
�@� ��)�� �)� ���� 4���� ��� *0���� ��
)��@���)��������.LM��),V"�

  ����� Which of the following pairs is not 

correctly matched ?�
[1] According to S. S. Iyenger, 

bicameralism in democracy is an 

'outworn creed' and second 

chambers are retained 'to provide 

scope for the ambitions of 

partymen who may not be 

accommodated in the first.' 

[2] According to Abbe Sieyes : 'If a 

second chamber dissents from the 

first, it is mischievous; if it agrees 

with it, it is superflous'.�
[3] According to Finer : 'If the two 

assemblies agree, so much the 

better for our belief in the wisdom 

and justice of the law; if they 

disagree, it is time for the people to 

reconsider their attitude'. 

[4] According to Benjamin Franklin : 

'almost any second chamber is 

better than none'.�



������ �������

��	�
���
��� � �

����� �����/��������,�-���0!C/���	��	��	��	��),�6�

� G���'���IG���'���IG���'���IG���'���I���� � G�'�������#��IG�'�������#��IG�'�������#��IG�'�������#��I����

[1] /��!#��� :  1978 

[2] �������� :  1984 

[3] ;���/�.����$����� :  1980 

 

[4] ����� :  1976 
�

  ����� Which of the following pair is incorrect ?�

� (Institution) � (Foundation Year)����

[1] Manushi : 1978 

[2] Jagori : 1984 

[3] Forum 

Against Rape 

: 1980 

[4] SEWA : 1976 
�

����� �<���<���<���<��-I ����<���<���<���<��-II ��� �/����������.�,��
�<��0���� ��� ����� �
�� ��� �<$� /��� ��� �)��)��)��)��
���������0����������

� �<���<���<���<��-I� � �<���<���<���<��-II�

A. ��5���$��,��� i. �������>8�

B. 
��	��,�'��� ii. �!���	�

C. ����/��>��.��
����� iii. �����

D. �������.��
����� iv. /)���#$%�

�<$���<$���<$���<$������
 A B C D  

[1] iii ii iv i 

[2] ii iv i iii 

[3] iii iv ii i 

[4] iv iii i ii�

  ����� Match List-I with List-II and select 

the correct answer by using the 

codes given below the lists :�
List-I List-II 

A. Silent Valley i. Uttarakhand 

B. Dalit Panthers ii. Gujarat 

C. Nawnirman 

Andolan 

iii. Kerala 

D. Chipko 

Andolan 

iv. Maharashtra 

Codes :����
 A B C D  

[1] iii ii iv i 

[2] ii iv i iii 

[3] iii iv ii i 

[4] iv iii i ii�

����� ��0!*	���#$%������$�����������&�	������/������
��,�-���.�!LM�
����0!C/���	��	��	��	��),�6�

[1] .�!LM�
�3���/<���
�0������������/���

[2] .�!LM�
�4�������
�0�������.)�	��+��

[3] .�!LM�
�5����
�0	�����30���

[4] .�!LM�
�6����
�0	�������#�����

  
����� Which of the following pairs about 

articles of the UN Charter is wrong ?�
[1] Article 3 : About original  

   members�
[2] Article 4�: Eligibilities�of new  

   members 

[3] Article 5�:�Resigning from  

           membership�
[4] Article 6�:�Termination of  

      membership��



� ������� ������

��	�
���
��� � ���������

����� ��0!*	� ��#$%� ��$��� (1945) ��� �!���/�2���

.�,����
���&�����������&�	������/��������,�-

����'�����	��	��	��	�),�6�

[1] ��0!*	� ��#$%� ��� -���#�>����� /��� .&0�0�

18 ��� .�!LM�
� 108� .�,�� 109�

�!���/�2��� .�,�� ��
���&��� 4��&���� ���

�����&�	�),"�

[2] ��0!*	� ��#$%� -���#�>����� /��� ���5�� ����

��
���&���	��4������)��	��),�����!�2���

���#�
����������'��0���
�0�.�,��
��-

�	)�5�� ��0!*	� ��#$%� �
�0� 5����

�/'��������"�

�

[3] -���#�>���������!���/�2������ ������0!*	�

��#$%� ��� ��&���>�� ��/������-�� ��� 
��-

�	)�5�� �
�0���� .�,�� �!�2��� ���#�
� ���

10� �
�0���� ��� �/'���� ��� .�0����	�

��0�������	��),"�

[4] .��� ����� ��/���� /)������ ��� 10����

���#���� .�&���
��� ��� �)��� �)��� �!��0��

��	��),�	����;��0)�/)����������)!/	�

�
�0���� .�,�� �!�2��� ���#�
� ��� ��	�

�
�0��������/'�������.�0����	���0�����

��	��),"�

  
����� Which of the following statements 

about review and amendment of the 

UN Charter (1945) is incorrect ?  

[1] Art. 108 and 109 of Chapter 18 

of the UN Charter deal with 

review and amendment 

provisions. 

[2] Any amendment in the UN 

Charter can become effective 

only when all permanent 

members of the security council 

and two-third UN members 

support it. 

[3] A general conference of the UN 

to review the Charter can be held 

only with the support of two-

third members and 10 members 

of the security council. 

[4] If such a conference is not 

organized before 10th annual 

conference of the General 

Assembly than it can be 

organized with the support of 

majority of Assembly members 

and 7 security council members.�



������ �������

��	�
���
��� � �

�� �� �<���<���<���<��-I �����<���<���<���<��-II ��� �/����������.�,��

�<��0������������ �
������<$�/����)��)��)��)�������

����0����������

� �<��?�<��?�<��?�<��?I����

G������IG������IG������IG������I����

���� �<��?�<��?�<��?�<��?II��������

G����	������������#��IG����	������������#��IG����	������������#��IG����	������������#��I����

A. ��7�

���	�����

i. ���������������,��),�

B. ��7� .��7�

 0<����

ii. ����.��	3��/����)���),�

����������8J����/�

�

C. ����8���N�� iii. ��U�� ),� ��� ��
��#�>��

)��������)��

D. N���$�� iv. ���(�� �������� ���

/��	#�� /��� ���(��

��F��	@� ��� ),� �!M�

�)���

�<$���<$���<$���<$������

 A B C D 

[1] i ii iii iv�

[2] ii iv i iii�

[3] ii iii i iv�

[4] iii iv i ii�

  �� �� Match List-I with List-II and select 

the correct answer by using the 

codes given below the lists :�

 List-I 

(Thinker) 

 List-II 

(Definition of 

Democracy) 

A. G. Sartori i. She is 

everybody's 

mistress. 

B. J. R. Lucas ii. High flown 

name for 

something 

which does not 

exist. 

C. Bernard 

Crick

iii. Is a noun but 

should be an 

adjective. 

D. Cranston iv. Is nothing but 

different 

doctrines in 

different 

people's minds. 

Codes : 

 A B C D 

[1] i ii iii iv�

[2] ii iv i iii�

[3] ii iii i iv�

[4] iii iv i ii�



� ��� ��� ������

��	�
���
��� � ���������

��!�� �<���<���<���<��-I ����<���<���<���<��-II ��� �/����������.�,��
�<��0���� ��� ����� �
�� ��� �<$� /��� ��� �)��)��)��)��
���������0����������
� �<���<���<���<��-I� � �<���<���<���<��-II�
A. .�9���
���	����� i. 1998 

B. .�9���
���
��*	� ii. 1999 

C. .�9���
���/�-�
<	� iii. 2000 

D. .�9���
�����!���� iv. 1984 

�<$���<$���<$���<$������
 A B C D  

[1] ii i iv iii 

[2] i ii iv iii 

[3] ii i iii iv 

[4] iii ii iv i�

  ��!�� Match List-I with List-II and select 
the correct answer by using the 
codes given below the lists :�
� List-I� � List-II�
A. Operation 

Talwar 
i. 1998 

B. Operation Shakti ii. 1999 
C. Operation 

Meghdoot 
iii. 2000 

D. Operation 
Khukri 

iv. 1984 

Codes :����
 A B C D  
[1] ii i iv iii 
[2] i ii iv iii 
[3] ii i iii iv 
[4] iii ii iv i�

����� �!�� ������ ��� ����� /��� ���������	� /��� ���
��,�-��X����'����)��)��)��)��),X),��6�
� �
(A) ������	�� ��
��� ����� /��� �(/�'����

��
�
���.�&����),"� �
(B) 5�� ��F�(	� ���.�!���� ��� �������

��� ��
�
�� /��� �(/�� �L��� ��
�
��� )�����
��	��),�"� �

(C) ��
�
���/�	�-��	�����
�
��������	���,
��
)!���L����)�+�����������)�����	��),�"�

�<$���<$���<$���<$������
[1] �����(A) �)��),�
[2] �����(B) .�,��(C) �)��),��
[3] (A), (B) .�,��(C) �)��),��
[4] �������	�),��

  ����� Which of the following statement/s 
about the principle of Jus Soli is/are 
correct ? 
(A) The place of birth is the guiding 

consideration in conferring 
citizenship.  

(B) According to this principle, 
children of a citizen born abroad 
become aliens.  
 

(C) Children of alien parents born 
within the territory of the state 
become its citizens.  

Codes : 
[1] Only (A) is correct 
[2] Only (B) and (C) are correct 
[3] (A), (B) and (C) are correct 
[4] All are incorrect 

��"�� ���������	�/��������,�-��� �������.��'����
�/��	������������	����	��	������<��
�	��
/��	��),��6�
[1] ������
[2] ��98���*$��
[3] �����*���8��$��������
[4] �� ;��/���,�8�

  ��"�� Which of the following thinker 

considers economic equality as a 

pre-condition to political liberty ?   

[1] Laski 

[2] Lord Acton  

[3] Alexis de Tocqueville  

[4] Ralph Miliband�



������ ���!���

��	�
���
��� � �

��
�� .&02��3/�� =0��'��� ��� ���������	� /��� ���
��,�-�����
��#�	�������	��	��	��	����),�6 

[1] ������ ��� 	��� .������ /��� 
��*	0���� ���
�B'�*��>��)," 

[2] .&02�� ���� .������ ��� �
L0!	� �)���
��0�������	��)," 

[3] ��0�������0� 
��*	� .�������	� )��	��
),@� 0)����.&02��/��� ���)	�)��	�� ),�
���� ��H0����/!���0��.�,�����������
/!���0��)��	��),"�
 

[4] ��0������������.��
����4�	���1����
�������0�������	��),"�

  
��
�� Which of the following features of a 

Presidential system is incorrect ? 

[1] There is separation of powers 
between the three branches of 
government. 

[2] The Chief Executive cannot be 
easily removed from the office. 

[3] The Executive Power is 
undivided, it is deposited in a 
president who is both the head of 
State and the head of 
Government. 

[4] The executive can be dissolved 
through no confidence motion.�

� ��� .����'���.����'���.����'���.����'���(A) : ����	�/�����H0�=0���0����
����&��������� �
������� ����
�,
����>�� ��� 4��3��)��
�
0�� .�,�� ��)� 4
�����
��"�

���>�����>�����>�����>��(R) : �,
����>�� ��� ��
�
��� �<+���
.�,�� ��
�
��� ������ /���
����	�0� �<+��� ���� ���	�
��/��>�� 4�N0�� /��� .�&���
/)���<>������0�"�
 

[1] A .�,��R 
������� =0�*	�	�E������)��
),��.�,��R, A ����)��=0��0��),"�
�

[2] A .�,��R 
�������=0�*	�	�E������)��
),�� ������ R, A ��� �)�� =0��0����
�)���),"� �

[3] A �)��),�������R ��	�),"�
[4] A ��	�),�������R �)��),"�

  � ��� Assertion (A) : Globalization provided 

the stimulus and the 

site for changing state 

business relations in 

India. 

Reason (R) : Globalization made 

foreign capital and 

Indian capital in 

foreign markets more 

central to policy 

formulation process. 

[1] Both A and R are individually 

true and R is the correct 

explanation of A.  

[2] Both A and R are individually 

true but R is not the correct 

explanation of A. 

[3] A is true but R is false.  

[4] A is false but R is true.�
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�%����	5��	����+�$%!�
������	����	����+	��;���	���"$����$���"�	��������������������
���!����.�+	�����
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������� �	�� �����	���
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���
������ ��� �	�����
��������	����������������
����
���(	����(���	�� ����$%!��������

&����������
������	�����
���������	��
��	�����	������
�����#�

����)! <�$���1����%��	���� �	����
������	�	������6=����#�+�+���
�����	�����)> �����������'�+?.�)! <�$��)����)�1@���	�
������	�����
����������2<����	��)����A��)> ����������.� �����
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�������������&���������	���	������)	��	���
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������	����� ����������2<�������
������	����� ����������2<�������
������	����� ����������2<��������!�$�!�$�!�$�!�$����)! �<�� ����*������ ���"�<��	��)�'�F��	����)! �<�� ����*������ ���"�<��	��)�'�F��	����)! �<�� ����*������ ���"�<��	��)�'�F��	����)! �<�� ����*������ ���"�<��	��)�'�F��	����������������������������'� ��#����"�.�'� ��#����"�.�'� ��#����"�.�'� ��#����"�.�)�'�F��	��)�'�F��	��)�'�F��	��)�'�F��	��
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